
Spare parts for the professional sector:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

REPAGAS
T1>

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

8
-0

3
0

5
1

2
0

1

Cooking equipment



Suitable for: Suitable for:

<T2

Air regulators
T2>

<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
<|

5 0 6 2 1 8 4
|>

A IR  R EG UL A TO R
internal ø 20 mm - external ø 22 mm internal ø 16 mm - external ø 18 mm

 height 73 mm  height 73 mm

    

REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC  REPAGAS  00100154 REPAGAS  012958

<T2

Axial motor fans
T2>

<|

3 2 4 0 5 0 1
|>

A X IA L  F AN  S UN O N 1 2 0 x1 2 0 x3 8  m m
<|

3 8 0 5 0 3 7
|>

C A BL E FO R A X IA L  M OT OR  FA N
ball bearings cable length 2000 mm

 230V 50/60Hz 22W 2850rpm  
 DP200A 2123XBT.GN  

    

REPAGAS  42300006  

<|

3 2 4 0 5 0 2
|>

A X IA L  F AN  S UN O N 8 0 x8 0 x2 5  m m
<| |>

ball bearings
 230V 50/60Hz 14W 2450rpm  
 SF23080AT-2082HBL.GN  

    

REPAGAS  41100009  

<T2

Ball valves and accessories
T2>

<|

3 5 2 6 6 9 1
|>

W A TE R V A LV E ø 1 /2 "M F
<| |>

ball valve
 heavy series with PN 25 total passage  
 aluminium lever  

    

REPAGAS  24205032  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Bearings
T2>

<|

D 0 6 3 0 3 9
|>

BEA R IN G  6 2 0 2 -2 Z  SK F
<| |>

single box packaging

    

REPAGAS  38101004  

<T2

Bulb sheathes
T2>

<|

3 1 8 7 0 1 6
|>

T HER M O ST AT  SH EA T H ø  3/4 "
<| |>

complete with fixing nut and washer
 bulb length 310 mm  

    

REPAGAS  9400029  

<|

3 7 8 6 4 9 9
|>

T HER M O ST AT  SH EA T H M 1 1 x1  m m
<|

3 7 8 6 3 7 7
|>

S HEA T H G A S KET
complete with fixing nut and washer external ø 17 mm - internal ø 12.5 mm

 length bulb 280 mm  

    

REPAGAS  40100039  

<T2

Burners, flame spreaders and accessories
T2>

<|

3 0 2 5 4 8 7
|>

BU R NE R ø  12 0  m m  QE-8 0
<|

3 0 2 5 4 8 9
|>

BU R NE R ø  14 0  m m  QE-1 0 0
for Pot stove gas (REPAGAS) C520 - C720 - C940 for Pot stove gas (REPAGAS) C1180 - C530 - C920

    

REPAGAS  004200 REPAGAS  015424 REPAGAS  016550  REPAGAS  06700018 REPAGAS  1083-P REPAGAS  50142000

REPAGAS  017956 REPAGAS  06700018 REPAGAS  1083-P  REPAGAS  50142089

REPAGAS  50132063 REPAGAS  50141000 REPAGAS  50141087  

REPAGAS  50141087_RC  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 2 5 4 9 2
|>

BU R NE R ø  16 5  m m  QE-1 4 0
<|

3 0 2 5 5 0 0
|>

BU R NE R ø  95  m m
for Pot stove gas (REPAGAS) C1540 - C1542 for Pot stove gas (REPAGAS)

    

REPAGAS  56730056  REPAGAS  02100029

<|

3 0 2 5 4 9 4
|>

BU R NE R ø  95  m m  QE-6
<|

3 0 2 5 4 8 4
|>

BU R NE R ø  95  m m  QE-6 0
for Pot stove gas (REPAGAS) for Pot stove gas (REPAGAS) C520 - C720 - C940

    

REPAGAS  014264 REPAGAS  50131062  REPAGAS  002871 REPAGAS  06700018 REPAGAS  1083-P

 REPAGAS  50140000 REPAGAS  50140085

<|

3 0 2 5 4 8 6
|>

BU R NE R C A P  ø 1 2 0  m m  Q E-8 0
<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
for Pot stove gas (REPAGAS) C520 - C720 - C940 internal ø 20 mm - external ø 22 mm

  height 73 mm

    

REPAGAS  015430 REPAGAS  50141088  REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC

<|

3 0 2 5 4 8 7
|>

BU R NE R ø  12 0  m m  QE-8 0
<| |>

for Pot stove gas (REPAGAS) C520 - C720 - C940

    

REPAGAS  004200 REPAGAS  015424 REPAGAS  016550  

REPAGAS  017956 REPAGAS  06700018 REPAGAS  1083-P  

REPAGAS  50132063 REPAGAS  50141000 REPAGAS  50141087  

REPAGAS  50141087_RC  

<|

3 0 2 5 5 2 5
|>

BU R NE R C A P  ø 1 4 0  m m
<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
for Pot stove gas (REPAGAS) internal ø 20 mm - external ø 22 mm

  height 73 mm

    

REPAGAS  00100109 REPAGAS  012597  REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

5 0 6 2 1 8 4
|>

A IR  R EG UL A TO R
<|

3 0 2 5 5 2 2
|>

JET  H OL D ER  F/FL A M E  S P R EA D ER  1 1 0 -1 1 5 -14 0
internal ø 16 mm - external ø 18 mm thread M9x1 for nozzle

 height 73 mm  

    

REPAGAS  00100154 REPAGAS  012958  REPAGAS  00121077 REPAGAS  001694

<|

3 0 2 5 4 8 8
|>

BU R NE R C A P  ø 1 4 0  m m  Q E-1 0 0
<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
for Pot stove gas (REPAGAS) C1180 - C530 - C920 internal ø 20 mm - external ø 22 mm

  height 73 mm

    

REPAGAS  002910 REPAGAS  50142090  REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC

<|

3 0 2 5 4 8 9
|>

BU R NE R ø  14 0  m m  QE-1 0 0
<| |>

for Pot stove gas (REPAGAS) C1180 - C530 - C920

    

REPAGAS  06700018 REPAGAS  1083-P REPAGAS  50142000  

REPAGAS  50142089  

<|

3 0 2 5 4 9 7
|>

BU R NE R C A P  ø 1 4 0  m m  Q E-1 2
<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
for Pot stove gas (REPAGAS) internal ø 20 mm - external ø 22 mm

  height 73 mm

    

REPAGAS  50133066  REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC

<|

3 0 2 5 4 8 3
|>

BU R NE R C A P  ø 9 5  m m  QE-6 0
<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
for Pot stove gas (REPAGAS) C520 - C720 - C940 internal ø 20 mm - external ø 22 mm

  height 73 mm

    

REPAGAS  007139 REPAGAS  50140086 REPAGAS  50140086_RC  REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 5 4 8 4
|>

BU R NE R ø  95  m m  QE-6 0
<| |>

for Pot stove gas (REPAGAS) C520 - C720 - C940

    

REPAGAS  002871 REPAGAS  06700018 REPAGAS  1083-P  

REPAGAS  50140000 REPAGAS  50140085  

<|

3 0 2 5 4 9 1
|>

FL A M E  S P R EA D ER  ø  1 6 5  m m  QE -1 4 0
<|

3 0 2 5 4 8 5
|>

A IR  A D JU S TER
for Pot stove gas (REPAGAS) C1540 - C1542 internal ø 20 mm - external ø 22 mm

  height 73 mm

    

REPAGAS  56730057  REPAGAS  017956 REPAGAS  06700018 REPAGAS  06700018_RC

<|

3 0 2 5 4 9 2
|>

BU R NE R ø  16 5  m m  QE-1 4 0
<| |>

for Pot stove gas (REPAGAS) C1540 - C1542

    

REPAGAS  56730056  

<|

3 0 2 5 5 2 2
|>

JET  H OL D ER  F/FL A M E  S P R EA D ER  1 1 0 -1 1 5 -14 0
<| |>

thread M9x1 for nozzle

    

REPAGAS  00121077 REPAGAS  001694  

<T2

Buzzers
T2>

<|

3 3 9 7 3 0 2
|>

A L AR M  BEL L  22 0 V
<| |>

    

REPAGAS  1230015  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Cables for piezo igniters
T2>

<|

3 0 0 1 0 1 9
|>

IG N IT IO N  LEA D  1 0 0 0  m m
<|

3 0 0 1 0 1 7
|>

IG N IT IO N  LEA D  6 0 0  m m
with faston ø 2.4 mm for ignition with faston 6.35x0.8 mm for ignition

 with faston ø 2.4 mm for electrode  with faston ø 4 mm for electrode

    

REPAGAS  00106042  REPAGAS  40100009

<|

3 0 0 1 0 6 8
|>

IG N IT IO N  LEA D  6 0 0  m m
<| |>

with faston ø 2.4 mm for ignition
 with faston ø 2,4 mm for electrode  

    

REPAGAS  08100027  

<T2

Contactors
T2>

<|

3 3 5 1 2 1 2
|>

C O N TA C T OR  A EG  LS 4 K 9 A  2 3 0 V 4 K w
<|

3 4 4 6 5 1 6
|>

A U XILIA R Y C ON T A C T A EG  H S7 K 0 1
coil 230V 50/60Hz 10A

 3 normally open contacts  1 normally closed contact
 1 normally open auxiliary contact  

    

REPAGAS  1130014  

<|

3 4 5 4 0 3 2
|>

A U XILIA R Y C ON T A C T A EG  H S7 K 1 0
<| |>

1 NO contact

    

<|

3 3 5 1 0 4 9
|>

C O N TA C T OR  SIEM EN S 3 R T2 0 1 6 -1 A P0 1
<|

3 3 5 1 0 5 9
|>

T HER M A L R EL A Y SIEM EN S 1 ,8 -2 ,5 A
9A 400V 4Kw - coil 230V 50/60Hz 1 contact NO

 3 normally open contacts  1 contact NC
 1 normally open auxiliary contact  3RU2116-1CB0 series S00

    

REPAGAS  1430006  REPAGAS  1420005

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Cooking baskets and accessories
T2>

<|

3 0 5 5 1 3 5
|>

P A ST A  C OO K ER B AS K ET 1 6 0 x29 0 x2 0 0  m m
<|

3 0 5 5 1 2 5
|>

K NO B BL A C K  BA KEL ITE ø 2 8 x8 9  m m  M 8 x1
for 13 portions approx

 made of STAINLESS STEEL  

    

REPAGAS  58400068  

<|

3 1 5 5 0 0 2
|>

K NO B BL A C K  PL A ST IC  ø 2 8 x8 4  m m  M 8 x1
<| |>

    

<T2

Door catches
T2>

<|

3 2 4 2 2 9 8
|>

C A T C H  6 1 9 5  6 9  m m  - 4 2  m m
<|

3 2 4 2 7 4 7
|>

BL A C K  SP A C ER  4 2 x1 2  m m
mounting distance 57 mm - 30 mm height 6 mm - distance between holes 30 mm

 RAHRBACH  

    

REPAGAS  1270034  

<T2

Drain taps and accessories
T2>

<|

3 3 5 6 0 5 5
|>

D R A IN  TA P  ø 1 "F
<| |>

    

REPAGAS  8500001  

<|

3 3 5 6 1 4 9
|>

D R A IN  TA P  ø 2 "F T EC N O
<|

3 1 8 6 2 4 2
|>

A SB EST OS  FR EE FLA T  G AS K ET ø 6 1 x4 6 x2  m m
BRASS CAP - with swivel nut ø 2"F for drain tap ø 2" old model

    

REPAGAS  08100075  

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 3 5 6 1 0 1
|>

C A P  FOR  D R A IN  T A P
<|

3 3 5 6 0 1 6
|>

D R A IN  N IP P LE ø  2 "x8 0  m m
for DRAIN TAP ø 2" OLD MODEL in brass

    

<|

3 2 4 2 1 9 0
|>

D R A IN  TA P  H A ND GR IP
<|

3 3 5 6 0 1 2
|>

ES C U TC H EO N FO R  D R A IN  TA P  ø 2 "
for DRAIN TAP ø 2" OLD MODEL

 AND FOR TECNO NEW MODEL  

    

<|

3 1 7 9 0 1 0
|>

FITT IN G S SE AL ING  TA P E L OC TITE 5 5  - 5 0 m
<|

5 0 1 5 5 7 3
|>

G A SK ET FL A T A S BE. FR EE ø 6 1 x4 8 x2  m m
length 50 mt for drain tap ø 2"

 suitable to hot and cold drinking water, gas  
 replaces pastes, hemp and sealing tapes  
 it allows the repositioning of couplings  
 in compliance with the lastest regulations  
 Drinking water (Italian certification by C.S.A.,  
 according to standard KTW and WRC approved)  
 gas - water IMQ-UNICIG.  
 compliant with UNI EN 51-2 class Arp  
 approved by DVGW and DIN 30660  

    

<|

1 1 8 0 0 0 1
|>

G R EA SE K LU BER S YN TH  UH 1  1 4 -1 5 1 4 5  g
<|

3 1 8 6 2 4 1
|>

O -R ING  0 6 2 1 2  VITO N
food safe grease for lubrication ring thickness 5.34 mm - internal ø 53.34 mm

 of all friction points  for DRAIN TAP ø 2" OLD MODEL AND
 ideal for water and steam taps  TECNO NEW MODEL
 operating temperature -45°/+120°  
 beige color - NSF H1 certified  
 hot and cold water resistant  
 high anti-corrosion power  
 can replace vaseline  

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 3 5 6 1 2 8
|>

P IN  ø 5 x3 0  m m
<|

3 1 8 0 0 6 1
|>

T AP E F. C O U P LING  S EA LING  L OC TITE 5 5 -1 5 0m
complete with blind nut length 150 metri

  suitable for hot / cold drinking water. gas
  replaces pastes, hemp and sealing tapes
  it allows the correct replacement of fittings
  compliant with the latest regulatory requirements
  Drinking water (C.S.A. italian certified.
  in line with KTW standard and WRC approved )
  IMQ-UNICIG gas-water,
  compliant with UNI EN 51-2 class Arp
  DVGW and DIN 30660 approved

    

<|

3 1 8 0 0 3 9
|>

VA S EL IN E W U ER TH  7 5 0  g
<| |>

for lubrication of food processing machines
 it protects chromed and rubber parts from  
 weather factors, moisture resistant,  
 operating temperature from -10°C up to +120°C  
 from +50°C to +120 °C the grease becomes oily  

    

<|

3 3 5 6 0 8 4
|>

D R A IN  TA P  ø 3 /4 "M F
<| |>

for Fryer electric (REPAGAS) FE17

    

REPAGAS  57105033  

<|

3 3 5 6 0 6 9
|>

D R A IN  TA P  K IT  ø 1 "M F
<|

3 3 5 6 1 3 3
|>

D R A IN  TA P  L EVER  1 6 5  m m
the kit includes:

 2 brackets, small parts and various  

    

REPAGAS  8900021  

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 3 5 6 0 9 5
|>

D R A IN  TA P  L EVER  2 3 0  m m
<|

3 3 5 6 0 9 4
|>

D R A IN  TA P  L EVER  3 8 0  m m
for Fryer electric (REPAGAS) FE12 for Fryer electric (REPAGAS) FE20 - FE20+20 - FE30

 for Fryer gas (REPAGAS) FG157 - FG307  FE30+30
  for Fryer gas (REPAGAS) FG159 - FG309

    

REPAGAS  9500006  REPAGAS  40300005

<|

3 7 8 6 0 4 3
|>

G A SK ET FO R  BOIL ER EL BO W
<|

7 1 5 0 6 1 7
|>

K NO B FO R  D RA IN  T A P  ø 4 0  m m
ø external 19/16 mm - ø internal 10 mm pin M6x15 mm

 depth 6 mm  

    

<|

7 1 5 0 6 1 8
|>

L EVER  FO R D RA IN T A P  4 1 5  m m
<| |>

    

<|

3 3 5 6 0 9 5
|>

D R A IN  TA P  L EVER  2 3 0  m m
<|

3 3 5 6 0 9 4
|>

D R A IN  TA P  L EVER  3 8 0  m m
for Fryer electric (REPAGAS) FE12 for Fryer electric (REPAGAS) FE20 - FE20+20 - FE30

 for Fryer gas (REPAGAS) FG157 - FG307  FE30+30
  for Fryer gas (REPAGAS) FG159 - FG309

    

REPAGAS  9500006  REPAGAS  40300005

<T2

Drip trays
T2>

<|

3 0 1 5 0 3 5
|>

BU R NE R D R IP T R A Y
<|

3 0 1 5 0 3 6
|>

BU R NE R D R IP T R A Y
external size 550x500 mm external size 550x500 mm

 internal hole ø 150 mm  internal hole ø 175 mm
 for Pot stove gas (REPAGAS) C1540 - C1542  for Pot stove gas (REPAGAS) C1540 - C1542

    

REPAGAS  009096 REPAGAS  56700047  REPAGAS  56700048

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 1 5 0 3 7
|>

BU R NE R D R IP T R A Y
<| |>

external size 400x290 mm
 internal hole ø 130 mm  
 for Pot stove gas (REPAGAS)  

    

REPAGAS  002973 REPAGAS  53100029  

<T2

Electrical gas valves and accessories
T2>

<|

2 1 1 0 9 7 9
|>

VA L V E 84 0  S IG M A  ø 1 /2 "FF
<|

2 1 1 0 6 1 8
|>

D O UB LE C OIL FO R  VA L VE
inlet ø 1/2"F - outlet ø 1/2"F 230V 50Hz

 gas inlet maximum pressure 60 mbar  for VALVE 840 SIGMA-848 SIGMA
 pressure calibration field outlet  
 2÷50 mbar  
 ambient temperature 0÷60°C  
 power supply 230V 50Hz  

    

REPAGAS  43000009  

<|

5 0 7 6 9 0 5
|>

D O UB LE C OIL FO R  VA L VE
<|

2 1 0 2 6 5 8
|>

EL EC T RIC  C O UP L IN G  W IT H  C A BLE
220V 60Hz cable length 550 mm - 4  wires

 for VALVE 840 SIGMA-845 SIGMA-848 SIGMA  for valve sit 840 SIGMA-843 SIGMA-845 SIGMA
  for valve sit 848 SIGMA

    

<|

5 0 6 8 6 4 6
|>

EL EC T RIC  C O UP L IN G  W IT H  C A BLE
<| |>

cable length 1100 mm - 3 threads
 for valve sit 840 SIGMA-843 SIGMA-845 SIGMA  
 for valve sit 848 SIGMA  

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Electronic boxes
T2>

<|

3 5 2 6 4 0 2
|>

C O N TR OL  BO X S 4 5 6 0 A1 0 0 8
<| |>

model HONEYWELL - 220/240V 50Hz 10VA

    

REPAGAS  1440006  

<T2

Electronic controllers
T2>

<|

3 4 4 5 0 7 6
|>

T HER M O ST AT  EVK 4 1 1  P TC /N T C /P T1 0 0 /P T 1 00 0
<|

3 4 4 5 1 5 7
|>

P R OBE N T C  P VC  1 5 0 0  m m
power supply 12Vca/dc 1.5VA probe 2 wires - temperature range -30°+80°C

 thermostat setting range 99+600°C  bulb ø 6x40 mm
 ON-OFF control with one actuation point  
 1 exchange relay output 6(3)A 250V  
 inbuilt alarm buzzer  
 access to configuration parameters through  
 password  
 serial port for data exchange  
 room temperature 0+60°C  
 PTC/NTC/PT100/PT1000  type probe (not included)  
 connections by screwed terminal block  
 front dimensions 74x32x65 mm  
 mounting hole 71x29 mm  

    

REPAGAS  1230020  

<|

3 4 4 5 1 5 6
|>

P R OBE N T C  P VC  3 0 0 0  m m
<|

3 4 4 5 0 2 8
|>

P R OBE N T C  P VC  4 0 0 0  m m
temperature range -30+80°C temperature field -30+80°C

 bulb ø 6x40 mm  bulb ø 6x20 mm

    

<|

3 4 4 5 1 6 7
|>

P R OBE N T C  TP E IP6 8  1 5 0 0  m m
<|

3 4 4 5 3 3 5
|>

P R OBE N T C  TP E IP6 8  3 0 0 0  m m
temperature range -50+110°C temperature range -50+110°C

 bulb ø 5x20 mm watertight  bulb ø 5x20 mm watertight

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 4 4 5 1 8 4
|>

P R OBE N T C  TP E S TEEL  IP 6 8  1 5 0 0  m m
<|

3 4 4 5 1 5 4
|>

P R OBE N T C  TP E S TEEL  IP 6 8  3 0 0 0  m m
temperature range -40+110°C temperature range -40+110°C

 bulb ø 6x40 mm watertight  bulb ø 6x40 mm watertight

    

<|

3 4 4 5 1 1 7
|>

P R OBE P T 1 0 0 V ETR O TEX  3 0 0 0  m m
<|

3 4 4 5 3 7 9
|>

P R OBE P T 1 0 00  IP 68  1 5 0 0  m m
3-wire probe temperature range 0+350°C temperature range -50+110°C

 bulb ø 6x100 mm  bulb ø 6x20 mm watertight

    

<|

3 4 4 5 3 8 0
|>

P R OBE P T 1 0 00  IP 68  3 0 0 0  m m
<|

3 4 4 5 0 7 0
|>

P TC  P V C  P RO BE 1 5 0 0  m m
temperature range -50+110°C 2-wire probe temperature range -30+80°C

 bulb ø 6x20 mm watertight  bulb ø 6x40 mm

    

 REPAGAS  44300002

<|

3 4 4 5 1 0 7
|>

P TC  P V C  P RO BE 3 0 0 0  m m
<|

3 4 4 5 9 1 3
|>

S IL IC O N E PR O BE N TC  1 5 0 0  m m
2-wire probe temperature range -30+80°C temperature range -50+110°C

 bulb ø 6x40 mm  bulb ø 6x40 mm

    

<|

3 4 4 5 1 5 5
|>

S IL IC O N E PR O BE N TC  3 0 0 0  m m
<|

3 4 4 5 1 8 3
|>

S IL IC O N E PT C  P R OBE 3 0 0 0  m m
temperature range -50+110°C 2-wire probe temperature range -55+150°C

 bulb ø 6x40 mm  bulb ø 6x40 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 4 4 5 9 5 9
|>

S IL IC O N E PT C  P R OBE 5 0 0 0  m m
<|

3 4 4 5 1 1 0
|>

T RA N SF OR M ER  2 3 0 V /1 2 V 3 V A
temperature range -55+150°C primary tension 230Vca 50/60Hz

 bulb ø 6x40 mm  secondary tension 12Vca 3VA
  room temperature 0+60°C
  screw terminal block
  IMQ approved

    

<|

3 4 4 5 1 1 1
|>

T RA N SF OR M ER  2 4 V /1 2 V 3 V A
<| |>

primary tension 24Vca 50/60Hz
 secondary tension 12Vca 3VA  
 room temperature 0÷60°C  
 screw terminal block  
 IMQ approved  

    

<T2

Energy regulators
T2>

<|

3 3 5 0 0 2 4
|>

EN ER GY  REG U L AT O R
<| |>

contact capacity 240V 13A
 max temperature 125°C  
 D-shaped pin ø 6x4.6 mm  
 double rotation direction  

    

REPAGAS  1230018  

<T2

Feet
T2>

<|

3 3 1 3 0 8 4
|>

A D JU S TA BL E S/ST EEL FO O T ø 2 " x  h 1 0 7  m m
<|

3 3 1 3 0 3 2
|>

R U BBER  FOO T ø  4 0  m m
with fixed screw M10x22 mm with fixed screw M10x34 mm

 adjustable height 107÷137 mm  for Fryer electric (REPAGAS) FE10 - FE17 - FE8

    

REPAGAS  40100022  REPAGAS  018148 REPAGAS  018148+008243 REPAGAS  018148+008243_2PZ

 REPAGAS  24600030 REPAGAS  34101010 REPAGAS  34101010+078-P

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Filters
T2>

<|

5 0 1 5 0 6 9
|>

FR YER  FIL T ER 3 2 0 x1 8 5 x4 0  m m
<| |>

    

REPAGAS  8900019  

<T2

Fittings
T2>

<|

3 3 4 9 0 8 9
|>

EL BO W  FIT TING
<|

3 3 4 9 0 8 6
|>

EL BO W  HO SE-EN D  FITT IN G
fitting 1/2"F-1/2"M hose-end fitting ø 13 mm - coupling ø 3/4"F

 for GAS INLET  for GAS INLET

    

REPAGAS  011208 REPAGAS  27306009  REPAGAS  00135000 REPAGAS  011894

<|

3 3 4 9 0 8 7
|>

EL BO W  HO SE-EN D  FITT IN G
<|

3 3 4 9 0 8 8
|>

EL BO W  HO SE-EN D  FITT IN G
hose-end fitting ø 13 mm - coupling ø 1/2"F hose-end fitting ø 13 mm - fitting ø 1/2"M

 for GAS INLET  for GAS INLET

    

REPAGAS  008322 REPAGAS  27306000  REPAGAS  011541 REPAGAS  24205033

<|

3 3 4 9 0 9 0
|>

N UT  1 /2 "F FOR  C O U PL ING
<| |>

    

REPAGAS  014784 REPAGAS  24610018  

<T2

Fryer baskets and accessories
T2>

<|

7 1 1 5 9 4 7
|>

BA S KET  SU P P OR T FO R  FR YER
<|

5 0 1 5 2 5 2
|>

FR YER  BA SK ET  SU P PO R T
external dimensions 285x220x220 mm external dimensions 385x225x220 mm

    

REPAGAS  40100045  REPAGAS  40200006

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 5 5 4 7 3
|>

FR YER  BA SK ET  2 35 x2 1 0 x11 5  m m
<|

3 0 5 5 1 8 7
|>

FR YER  BA SK ET  2 60 x1 8 0 x12 0  m m
made of stainless steel in chrome-plated iron

 for Fryer electric (REPAGAS) FE8  

    

REPAGAS  001414 REPAGAS  57200022  REPAGAS  8500012

<|

3 0 5 5 1 8 6
|>

FR YER  BA SK ET  2 90 x1 1 0 x12 0  m m
<|

3 0 5 5 1 8 4
|>

FR YER  BA SK ET  2 90 x1 8 0 x12 0  m m
made of chrome-plated iron in chrome-plated iron

    

REPAGAS  40100013  REPAGAS  8700019

<|

3 0 5 5 3 5 7
|>

FR YER  BA SK ET  2 90 x2 1 5 x12 0  m m
<|

3 0 5 5 1 9 1
|>

FR YER  BA SK ET  3 65 x2 4 0 x12 0  m m
in chromium plated iron in chrome-plated iron

    

REPAGAS  40100014  REPAGAS

<|

3 0 5 5 4 7 5
|>

FR YER  BA SK ET  3 65 x5 4 0 x12 5  m m
<|

3 0 5 5 3 1 2
|>

FR YER  BA SK ET  3 75 x1 1 0 x12 0  m m
in chrome plated iron made of chrome plated iron

    

REPAGAS  9600007  REPAGAS  40200004

<|

3 0 5 5 3 1 0
|>

FR YER  BA SK ET  3 75 x2 1 5 x12 5  m m
<| |>

made of chrome plated iron

    

REPAGAS  40200005 REPAGAS  9000006  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Gas burners
T2>

<|

3 0 2 3 1 4 7
|>

BU R NE R ø  40 x3 4 0  m m
<|

3 0 2 5 6 5 2
|>

A ER A TION  R EGU L A TO R  4 9x2 5 x4 6  m m
overall length 380 mm

 made of STAINLESS steel  
 for Fryer gas (REPAGAS) FG125  

    

REPAGAS  40100005  

<|

3 0 2 3 2 9 0
|>

BU R NE R ø  40 x4 4 5  m m
<|

3 0 2 5 6 5 2
|>

A ER A TION  R EGU L A TO R  4 9x2 5 x4 6  m m
overall length 485 mm

 made of STAINLESS steel  
 for Fryer gas (REPAGAS) FG157 - FG159 - FG307  
 FG309  

    

REPAGAS  40100034  

<|

3 0 2 3 2 8 9
|>

BU R NE R ø  45 0  m m
<| |>

    

REPAGAS  006221 REPAGAS  58809014  

<|

3 0 2 5 4 8 2
|>

N OZ ZL E HO L D ER  FOR  BU R N ER
<|

3 5 2 8 0 1 8
|>

H EXA G O NA L  N UT  M 1 4  S H OR T
threaded connection for pipe M18x1,5 mm brass - UNI 5589 - DIN 936 - ISO 4035

 fastening M14x1,5 mm  
 pipe ø  12 mm  

    

REPAGAS  010948 REPAGAS  22108010  REPAGAS  00112127 REPAGAS  010106

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Gas taps and accessories
T2>

<|

3 3 4 8 1 0 7
|>

G A S T AP  C O P R EC I C A L 1 0 2 0 0
<|

3 7 8 6 0 2 5
|>

G A SK ET FO R  GA S  TA P  ø 2 0 x7 x1  m m
without pilot flame

 flange inlet fitting  
 outlet fittings ø M16x1.5 mm  
 double thermocouple connection M8x1  
 D-shaped long pin ø 8x6.5 mm  
 for Pot stove gas (REPAGAS) C531/G  

    

REPAGAS  009101 REPAGAS  04708023  REPAGAS  04708015

<|

3 3 4 8 1 0 6
|>

G A S T AP  C O P R EC I C A L 5 2 0 0
<| |>

without pilot flame
 flange inlet fitting ø 21 mm  
 outlet fitting ø M16x1.25 mm  
 thermocouple fitting M8x1  
 D-shaped pin ø 8x6.5 mm - long pin  
 for Hot plate (REPAGAS) - Series 440 - Series 550  

    

REPAGAS  24609000 REPAGAS  24609015  

<|

3 3 4 8 1 5 0
|>

G A S T AP  C O P R EC I C A L 5 2 0 0
<|

3 1 8 2 0 2 2
|>

M A GN ET IC  G R OU P  P EL S M A LL  H EA D
without pilot flame head ø 15.5 mm - end piece ø 11.5 mm - length 44mm

 flange inlet fitting ø 21 mm  
 outlet fitting ø M16x1.25 mm  
 thermocouple fitting M8x1  
 pin legth 26 mm  

    

REPAGAS  24609000 REPAGAS  24609015  

<|

3 1 8 2 0 1 1
|>

M A GN ET IC  U N IT  P EL S M AL L  HE AD
<|

3 1 8 6 7 8 9
|>

T AP  G A SK ET ø  1 1 x7 x3  m m
head ø 15 mm - end piece ø 11 mm - length 44 mm

 for PEL tap models 20-21  
 for EGA tap model 25213  
 for JUNKERS tap model CH110  

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 3 4 8 1 0 8
|>

T AP  BR A C K ET W ITH  S C R EW S
<| |>

    

REPAGAS  009007+006104_2PZ REPAGAS  04708013 REPAGAS  04708013+...  

REPAGAS  051-P  

<T2

Gas valves and accessories
T2>

<|

3 5 2 6 1 3 1
|>

EU R OS IT  VA L VE FO R  F RY ER 1 1 0 ÷1 9 0 °C
<|

3 5 2 6 2 6 0
|>

C A P  FOR  V A LV E EU RO SIT ø  3 /8 "
inlet ø 3/8" F - outlet ø 3/8"F with OR

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 outlet pressure setting range  
 3÷18 mbar outlet  
 ambient temperature 0÷120°C  
 capillary length 1050 mm  
 bulb ø 4x200 mm  

    

REPAGAS  40900005  

<|

4 0 5 6 0 0 9
|>

C A P  FOR  V A LV E EU RO SIT-M ER TIK ø  3 /8 "
<|

3 2 4 1 4 3 5
|>

EU R OS IT  VA L VE EX TEN S IO N
with OR D shaft ø 10x8 mm

    

<|

3 5 2 6 1 2 6
|>

EU R OS IT  VA L VE EX TEN S IO N
<|

3 5 2 6 6 7 7
|>

EX TEN S IO N FO R  EUR O SIT V A LV E
D shaft ø 10x8 mm D-shaped pin ø 10x8 mm

    

<|

3 0 2 0 0 8 3
|>

FITT IN G  A N D  O LIVE ø  4  m m
<|

3 0 2 0 0 8 4
|>

FITT IN G  A N D  O LIVE ø  6  m m

    

 REPAGAS  00131131 REPAGAS  43000018

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

5 0 5 0 4 0 0
|>

FITT IN G  F OR  OL IVE ø 1 0  m m
<|

3 5 2 6 1 2 7
|>

FL A NG E FO R  EXT EN SION
thread ø 3/8"M

    

<|

5 0 2 1 4 8 1
|>

G A S O UT L ET V AL V E FIT TING
<|

5 0 5 0 4 0 1
|>

O LIVE FO R  PIP E ø 1 0  m m
thread ø 3/8"M - M16x1 mm external ø 13 mm - height 8 mm

    

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
<|

3 0 0 1 1 1 1
|>

P IEZ O IGN ITER  EU R OS IT
for model PEL 22-24-25 M faston ø 2.4 mm

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 5 2 6 1 2 3
|>

R U BBER  PR O TEC TION  FO R EU R OS IT  VA L VE
thread ø 3/8"M

    

<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
<|

3 5 2 3 0 4 7
|>

L ID  M INISIT

    

REPAGAS  00100103  REPAGAS  9400033

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 5 2 3 9 1 9
|>

M IN IS IT  VA L VE F OR  FOO D -W A R M ER 3 0 ÷1 0 0 °C
<|

2 1 0 0 7 5 7
|>

C O N NEC TION  FOR  O LIVE ø  1 6  m m
inlet ø 1/2"F - outlet ø 3/8"F thread ø 1/2"M

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 ambient temperature 0÷60°C  
 capillary length 1050 mm  
 bulb ø 5x125 mm  
 without cover. knob and flanges  

    

REPAGAS  22502000  

<|

3 5 2 3 0 3 8
|>

EL BO W  FLA N G E M IN IS IT  ø 1 /2 "F
<|

3 5 2 3 0 3 7
|>

EL BO W  FLA N G E M IN IS IT  ø 3 /8 "
with screws and OR with screws and OR

    

<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
<|

3 5 2 3 0 4 7
|>

L ID  M INISIT

    

REPAGAS  00100103  REPAGAS  9400033

<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
head ø 25 mm - end piece ø 17 mm - length 56 mm

 for valve SIT AC2 - VR8-MINISIT  

    

<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
<|

3 3 4 8 0 4 4
|>

O LIVE FO R  PIP E ø 1 0  m m
internal thread M10x0.75 - external thread M14x1.5 for model PEL 20-21-24-25

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
<|

3 3 4 8 0 4 1
|>

O LIVE FO R  PIP E ø 1 6  m m
for model PEL 22-24-25 for model PEL 23

    

<|

3 0 0 1 0 7 0
|>

P IEZ O IGN ITER  M IN IS IT
<|

3 0 0 1 0 7 1
|>

P IEZ O IGN ITER  M IN IS IT  W IT H  C OV ER
a ø 22 mm hole is required for the assembly M faston 2.4 mm

 faston M ø 2.4 mm  

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
thread ø 3/8"M in brass with internal and external thread

  internal thread ø 3/8"F - external thread ø 1/2"F
  for MINISIT flange

    

<|

3 5 2 3 0 3 9
|>

S ENS IN G  ELE M EN T  M IN IS IT  30 ÷ 1 00 °C
<|

5 0 5 8 3 2 0
|>

T UBE  N U T FITT IN G  ø 1 0  m m
capillary length 1050 mm thread M14x1,5 mm

 bulb ø 5x125 mm  

    

<|

3 5 2 3 9 2 7
|>

M IN IS IT  VA L VE F OR  FR YER  1 1 0÷ 1 9 0°C
<|

2 1 0 0 7 5 7
|>

C O N NEC TION  FOR  O LIVE ø  1 6  m m
inlet ø 1/2"F - outlet ø 3/8"F thread ø 1/2"M

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 ambient temperature 0÷60°C  
 capillary length 1200 mm  
 bulb ø 6x105 mm  
 without cover. knob and flanges  

    

REPAGAS  9400008  

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 5 2 3 0 5 0
|>

C O VER  FO R  V A LV E M IN IS IT
<|

3 5 2 3 0 3 8
|>

EL BO W  FLA N G E M IN IS IT  ø 1 /2 "F
with screws and OR

    

REPAGAS  9400036  

<|

3 5 2 3 0 3 7
|>

EL BO W  FLA N G E M IN IS IT  ø 3 /8 "
<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
with screws and OR

    

 REPAGAS  00100103

<|

3 5 2 3 0 4 7
|>

L ID  M INISIT
<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
head ø 25 mm - end piece ø 17 mm - length 56 mm

  for valve SIT AC2 - VR8-MINISIT

    

REPAGAS  9400033  

<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
internal thread M10x0.75 - external thread M14x1.5

    

<|

3 3 4 8 0 4 4
|>

O LIVE FO R  PIP E ø 1 0  m m
<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
for model PEL 20-21-24-25 for model PEL 22-24-25

    

<|

3 3 4 8 0 4 1
|>

O LIVE FO R  PIP E ø 1 6  m m
<|

3 0 0 1 0 7 0
|>

P IEZ O IGN ITER  M IN IS IT
for model PEL 23 a ø 22 mm hole is required for the assembly

  faston M ø 2.4 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 0 1 0 7 1
|>

P IEZ O IGN ITER  M IN IS IT  W IT H  C OV ER
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
M faston 2.4 mm thread ø 3/8"M

    

<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
<|

3 5 2 3 0 4 4
|>

S ENS IN G  ELE M EN T  M IN IS IT  12 0 ÷ 20 0 °C
in brass with internal and external thread capillary length 1050 mm

 internal thread ø 3/8"F - external thread ø 1/2"F  bulb ø 6x105 mm
 for MINISIT flange  

    

<|

5 0 5 8 3 2 0
|>

T UBE  N U T FITT IN G  ø 1 0  m m
<| |>

thread M14x1,5 mm

    

<|

3 5 2 3 0 4 0
|>

S ENS IN G  ELE M EN T  M IN IS IT  10 0 ÷ 34 0 °C
<|

3 5 2 3 0 5 1
|>

S ENS IN G  ELE M EN T  M IN IS IT  11 0 ÷ 19 0 °C
capillary length 1050 mm capillary length 1050 mm

 bulb ø 5x70 mm  bulb ø 6x105 mm

    

REPAGAS  00100144  REPAGAS  40200024

<|

3 5 2 3 0 4 2
|>

S ENS IN G  ELE M EN T  M IN IS IT  50 ÷ 1 90 °C
<| |>

capillary length 1200 mm
 bulb ø 5x95 mm  

    

REPAGAS  9400038  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 5 2 3 9 2 0
|>

VA L V E 71 0  M INISIT O VEN  1 0 0 ÷3 4 0 °C
<|

2 1 0 0 7 5 7
|>

C O N NEC TION  FOR  O LIVE ø  1 6  m m
inlet ø 1/2"F - outlet ø 3/8"F thread ø 1/2"M

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 ambient temperature 0÷60°C  
 capillary length 1050 mm  
 bulb ø 5x70 mm  
 without cover, knob and flanges  

    

REPAGAS  00106048 REPAGAS  00131000 REPAGAS  0100988  

<|

3 5 2 3 0 3 8
|>

EL BO W  FLA N G E M IN IS IT  ø 1 /2 "F
<|

3 5 2 3 0 3 7
|>

EL BO W  FLA N G E M IN IS IT  ø 3 /8 "
with screws and OR with screws and OR

    

<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
<|

3 5 2 3 0 4 7
|>

L ID  M INISIT

    

REPAGAS  00100103  REPAGAS  9400033

<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
head ø 25 mm - end piece ø 17 mm - length 56 mm

 for valve SIT AC2 - VR8-MINISIT  

    

<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
<|

3 3 4 8 0 4 4
|>

O LIVE FO R  PIP E ø 1 0  m m
internal thread M10x0.75 - external thread M14x1.5 for model PEL 20-21-24-25

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
<|

3 3 4 8 0 4 1
|>

O LIVE FO R  PIP E ø 1 6  m m
for model PEL 22-24-25 for model PEL 23

    

<|

3 0 0 1 0 7 0
|>

P IEZ O IGN ITER  M IN IS IT
<|

3 0 0 1 0 7 1
|>

P IEZ O IGN ITER  M IN IS IT  W IT H  C OV ER
a ø 22 mm hole is required for the assembly M faston 2.4 mm

 faston M ø 2.4 mm  

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
thread ø 3/8"M in brass with internal and external thread

  internal thread ø 3/8"F - external thread ø 1/2"F
  for MINISIT flange

    

<|

3 5 2 3 0 4 0
|>

S ENS IN G  ELE M EN T  M IN IS IT  10 0 ÷ 34 0 °C
<|

5 0 5 8 3 2 0
|>

T UBE  N U T FITT IN G  ø 1 0  m m
capillary length 1050 mm thread M14x1,5 mm

 bulb ø 5x70 mm  

    

REPAGAS  00100144  

<|

3 5 2 3 9 2 2
|>

VA L V E 71 0  M INISIT O VEN  1 0 0 ÷3 4 0 °C
<|

2 1 0 0 7 5 7
|>

C O N NEC TION  FOR  O LIVE ø  1 6  m m
inlet ø 1/2"F - outlet ø 3/8"F thread ø 1/2"M

 thermocouple connection M9x1  
 maximum gas inlet pressure 50 mbar  
 ambient temperature 0÷80°C  
 capillary length 1800 mm  
 bulb ø 5x70 mm  
 without cover. knob and flanges  

    

REPAGAS  20803000  

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 5 2 3 0 3 8
|>

EL BO W  FLA N G E M IN IS IT  ø 1 /2 "F
<|

3 5 2 3 0 3 7
|>

EL BO W  FLA N G E M IN IS IT  ø 3 /8 "
with screws and OR with screws and OR

    

<|

3 5 2 3 0 3 5
|>

K NO B M IN ISIT BL A C K  ø 3 7  m m
<|

3 5 2 3 0 4 7
|>

L ID  M INISIT

    

REPAGAS  00100103  REPAGAS  9400033

<|

3 1 8 2 0 0 3
|>

M A GN ET IC  U N IT  SIT
<|

3 5 2 3 0 6 1
|>

N UT  ø 1 /4 "x6  m m
head ø 25 mm - end piece ø 17 mm - length 56 mm

 for valve SIT AC2 - VR8-MINISIT  

    

<|

3 5 2 3 0 6 0
|>

O IL  SEA L  FIT TING  ø  6 .5  m m
<|

3 3 4 8 0 4 4
|>

O LIVE FO R  PIP E ø 1 0  m m
internal thread M10x0.75 - external thread M14x1.5 for model PEL 20-21-24-25

    

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
<|

3 3 4 8 0 4 1
|>

O LIVE FO R  PIP E ø 1 6  m m
for model PEL 22-24-25 for model PEL 23

    

<|

3 0 0 1 0 7 0
|>

P IEZ O IGN ITER  M IN IS IT
<|

3 0 0 1 0 7 1
|>

P IEZ O IGN ITER  M IN IS IT  W IT H  C OV ER
a ø 22 mm hole is required for the assembly M faston 2.4 mm

 faston M ø 2.4 mm  

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 5 2 3 0 3 6
|>

R ED U C TIO N S TR A IG H T ø  3/8 "F  - ø 1 /2 "F
thread ø 3/8"M in brass with internal and external thread

  internal thread ø 3/8"F - external thread ø 1/2"F
  for MINISIT flange

    

<|

3 5 2 3 0 4 1
|>

S ENS IN G  ELE M EN T  M IN IS IT  10 0 ÷ 34 0 °C
<|

5 0 5 8 3 2 0
|>

T UBE  N U T FITT IN G  ø 1 0  m m
capillary length 1800 mm thread M14x1,5 mm

 bulb ø 5x70 mm  

    

<T2

Gaskets and seals
T2>

<|

3 7 8 6 0 2 7
|>

BU R NE R G A SK ET  ø 4 6 x3 5 x1 .3 0  m m
<|

3 7 8 6 0 2 6
|>

G A SK ET FO R  GA S  TA P  ø 1 1 x7 x3  m m

    

REPAGAS  0100112 REPAGAS  07108015  REPAGAS  009037 REPAGAS  04708016

<|

3 7 8 6 0 2 5
|>

G A SK ET FO R  GA S  TA P  ø 2 0 x7 x1  m m
<| |>

    

REPAGAS  04708015  

<T2

Grids for kitchen
T2>

<|

3 1 8 5 1 4 3
|>

G R ID  3 9 5 x37 0  m m
<| |>

for Pot stove (REPAGAS)

    

REPAGAS  00100110 REPAGAS  012605  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Grids for oven
T2>

<|

3 1 8 5 0 5 4
|>

C H R OM E P L AT ED  G R ID  G N  1 /1  5 30 x3 2 5  m m
<|

3 1 8 5 0 5 5
|>

C H R OM E P L AT ED  G R ID  G N  2 /1  6 50 x5 3 0  m m

    

REPAGAS  04100029  REPAGAS  00100115

<|

3 1 8 5 1 4 4
|>

C H R OM E P L AT ED  S UP P O RT  G RID  5 3 0 x5 3 0  m m
<| |>

    

REPAGAS  02100034  

<T2

Handles
T2>

<|

3 2 4 2 6 7 6
|>

BL A C K  PL A ST IC  H A N D L E 1 2 4 m m
<| |>

distance between mounting holes 107 mm

    

REPAGAS  40100030  

<T2

Heating elements
T2>

<|

3 7 5 5 9 0 1
|>

H EA TING  EL EM EN T 1 0 0 0 W  2 3 0 V
<|

3 7 5 5 9 0 0
|>

H EA TING  EL EM EN T 1 3 0 0 W  2 3 0 V
length 345 mm - width 55 mm length 280 mm - width 130 mm

 height 70 mm  height 70 mm
 for Fry top electric (REPAGAS) E-35 - E-65 - E-95  for Hot plate electric (REPAGAS) E60 - E64 - E80
  E84

    

REPAGAS  016053 REPAGAS  32100002 REPAGAS  32100002_RC  REPAGAS  32400014

<|

3 3 5 5 5 4 1
|>

H EA TING  EL EM EN T 1 5 0 0 W  2 2 0 V
<|

3 7 5 5 9 0 4
|>

H EA TING  EL EM EN T 1 5 0 0 W  2 3 0 V
length 320 mm - width 55 mm length 500 mm - width 90 mm

 height 215 mm - fittings ø 1/4"  fittings M12x1.25 mm
  operating ambient: immersion
  for Bain-marie gas (REPAGAS) BM71 - BM91

    

REPAGAS  8700024  REPAGAS  22300016

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 3 5 5 5 4 3
|>

H EA TING  EL EM EN T 2 0 0 0 W  2 2 0 V
<|

3 7 5 5 9 0 3
|>

H EA TING  EL EM EN T 2 5 0 0 W  2 3 0 V
length 320 mm - width 80 mm length 1180 mm - width 50 mm

 height 240 mm - fittings ø 1/4"  fittings M12x1.50 mm
  for Hot cupboard electric (REPAGAS)

    

REPAGAS  8800027  REPAGAS  25402002

<|

3 3 5 5 5 4 4
|>

H EA TING  EL EM EN T 3 0 0 0 /3 3 0 0 W  2 3 0/2 40 V
<|

3 7 5 5 2 8 9
|>

H EA TING  EL EM EN T 3 0 0 0 W  2 2 0 V
length 290 mm - width 170 mm length 280 mm - width 95 mm

 height 190 mm - fittings ø 1/4"  height 240 mm - fittings ø 1/4"

    

REPAGAS  8500013  REPAGAS  1130002

<|

3 7 5 5 6 8 9
|>

H EA TING  EL EM EN T 3 3 3 3 W  2 2 0 V
<|

3 7 5 5 6 8 8
|>

H EA TING  EL EM EN T 5 5 0 0 W  2 2 0 V
length 400 mm - width 90 mm length 390 mm - width 70 mm

 height 245 mm - fittings ø 1/4"  height 250 mm - fittings M14x1.5 mm

    

REPAGAS  9000007  REPAGAS  1140011

<|

3 7 5 5 9 0 5
|>

H EA TING  EL EM EN T 7 5 0 W  2 3 0 V
<| |>

length 235 mm - width 40 mm
 fittings M12x1.25 mm  
 operating ambient: immersion  
 for Bain-marie electric (REPAGAS) BM45 - BM65  

    

REPAGAS  23200007  

<T2

Hinges, catches and accessories
T2>

<|

3 0 5 3 3 0 8
|>

D O OR  H IN G E R OL L H O LD ER
<|

3 0 5 3 3 0 9
|>

H IN G E C OV ER
mounting distance 95 mm - overall length 111 mounting distance 95 mm - dimensions 110x25 mm

 height 24 mm  for Oven under cooktop (REPAGAS)
 for Oven under cooktop (REPAGAS)  

    

REPAGAS  00111000 REPAGAS  00148000 REPAGAS  005488  REPAGAS  00107027

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 5 3 0 3 4
|>

L ID  H IN G E R A D IU S 3 2 0  m m
<|

3 0 5 3 1 1 1
|>

S PR ING  L H ø  4 m m
for lid ø 640 mm for hinges with radius 320-395 mm

 for BOILING KETTLE with round lid  

    

REPAGAS  08134000  REPAGAS  08134125

<|

3 0 5 3 1 1 0
|>

S PR ING  R H ø  4  m m
<|

3 0 5 3 3 1 1
|>

S PR ING S  R H -LH  ø 4  m m
for hinges with radius 320-395 mm for hinges

    

REPAGAS  08134124  

<|

3 0 5 3 3 0 6
|>

R IG H T-L EFTH A N D  D O OR  H IN G E FOR  O VEN
<|

3 0 5 3 3 0 8
|>

D O OR  H IN G E R OL L H O LD ER
mounting distance 170 mm - overall length 205 mounting distance 95 mm - overall length 111

 height 166 mm  height 24 mm
 for Oven under cooktop (REPAGAS)  for Oven under cooktop (REPAGAS)

    

REPAGAS  000620 REPAGAS  00144000 REPAGAS  0100102  REPAGAS  00111000 REPAGAS  00148000 REPAGAS  005488

<|

3 0 5 3 3 0 9
|>

H IN G E C OV ER
<| |>

mounting distance 95 mm - dimensions 110x25 mm
 for Oven under cooktop (REPAGAS)  

    

REPAGAS  00107027  

<|

3 0 5 3 1 1 1
|>

S PR ING  L H ø  4 m m
<|

3 0 5 3 1 1 0
|>

S PR ING  R H ø  4  m m
for hinges with radius 320-395 mm for hinges with radius 320-395 mm

    

REPAGAS  08134125  REPAGAS  08134124

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Hot plates
T2>

<|

3 3 1 2 0 7 4
|>

S M O O TH  PL A T E 39 5 x3 6 5  m m
<| |>

made of cast iron
 for Pot stove (REPAGAS)  

    

REPAGAS  00100111 REPAGAS  012610  

<T2

Ignitors
T2>

<|

3 0 0 1 0 0 7
|>

P IEZ O IGN ITER
<| |>

a ø 22 mm hole is needed for the assembly
 faston M ø 2.4 mm  

    

REPAGAS  00128101 REPAGAS  40600007  

<T2

Incandescent lamps and neon lamps
T2>

<|

3 2 2 1 0 4 1
|>

L A M P  E1 4  1 5 W  2 3 0 V
<|

3 2 2 1 0 6 1
|>

L A M P  E1 4  2 5 W  2 3 0 V
max temperature 300°C - ø 22x50 mm max temperature 300°C - ø 26x57 mm

    

REPAGAS  1230009  REPAGAS  1250021

<|

3 2 2 1 1 0 5
|>

N EU TR A L H A L OG EN  LA M P  G 4 2 0 W  1 2 V
<| |>

max. temperature 250°C

    

REPAGAS  42200007  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Indicator lights
T2>

<|

3 2 2 1 3 5 9
|>

IN D IC A TO R  LIG HT  BL UE 3 8 0 V
<|

3 2 2 1 3 6 0
|>

IN D IC A TO R  LIG HT  D O UBL E R ED -G RE EN 2 3 0 V
ø head 21 mm - ø hole 13 mm mounting hole 52x28 mm

 for Fry top electric (REPAGAS) E-35 - E-64 - E-65  for Hot cupboard electric (REPAGAS) AC-127
 E-84 - E-95  AC-167 - AM-127 - AM-167

    

REPAGAS  016117 REPAGAS  32100012 REPAGAS  4100024  REPAGAS  012865 REPAGAS  25303013

<|

3 2 2 1 1 3 2
|>

IN D IC A TO R  LIG HT  G REEN  2 3 0 V
<|

3 2 2 1 1 5 3
|>

IN D IC A TO R  LIG HT  G REEN  3 8 0 V
head ø 13.5 mm - hole ø 10 mm - 120°C mounting hole 32. 5x10 mm - 85°C

 universal application  for COUNTER TOP FRYER all models

    

REPAGAS  1250050  REPAGAS  8500007

<|

3 2 2 1 0 9 5
|>

IN D IC A TO R  LIG HT  OR A N G E 23 0 V
<|

3 2 2 1 1 5 4
|>

IN D IC A TO R  LIG HT  OR A N G E 38 0 V
head ø 13.5 mm - hole ø 10 mm - 120°C mounting hole 32. 5x10 mm - 85°C

 universal application  for COUNTER TOP FRYER all models

    

REPAGAS  1230023  REPAGAS  8500005 REPAGAS  8500008

<|

3 2 2 1 3 6 1
|>

IN D IC A TO R  LIG HT  OR A N G E 38 0 V
<|

3 2 2 1 0 8 0
|>

IN D IC A TO R  LIG HT  R ED  2 3 0 V
head ø 12.5 mm - hole ø 10 mm - max 85°C head ø 13.5 mm - hole ø 10 mm - 120°C

 for Fryer electric (REPAGAS) FE-10 - FE-17 - FE-8  

    

REPAGAS  57103019  REPAGAS  1230025

<|

3 2 2 1 3 6 2
|>

IN D IC A TO R  LIG HT  R ED  3 8 0 V
<|

3 2 2 1 3 6 3
|>

IN D IC A TO R  LIG HT  W H IT E 3 80 V
head ø 12.5 mm - hole ø 10 mm  - 120°C head ø 12.5 mm -  hole ø 10 mm - 120°C

 for Fryer electric (REPAGAS) FE-10 - FE-17 - FE-8  for Fryer electric (REPAGAS) FE-10 - FE-17 - FE-8

    

REPAGAS  57103020  REPAGAS  57103021

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Ironmongery (screws,nuts,washers)
T2>

<|

3 2 4 2 0 4 1
|>

C L A SP  ø 3 x2 5  m m
<|

3 5 2 8 0 1 7
|>

H EXA G O NA L  N UT  M 1 2  S H OR T
stainless steel C70 - UNI 6873 - DIN 1481 - ISO 87 stainless steel - UNI 5589 - DIN 936 - 4035

    

REPAGAS  1260021  REPAGAS  30100048

<|

3 5 2 8 0 1 8
|>

H EXA G O NA L  N UT  M 1 4  S H OR T
<| |>

brass - UNI 5589 - DIN 936 - ISO 4035

    

REPAGAS  00112127 REPAGAS  010106  

<T2

Knobs
T2>

<|

3 2 4 1 6 3 6
|>

BL A C K  KN OB  ø 5 0  m m  3 0 °-1 1 0 °C
<|

3 2 4 1 6 3 7
|>

BL A C K  KN OB  ø 5 0  m m  6 0 °-2 0 0 °C
D-shaped hole 6x4.6 mm D-shaped hole 6x4.6 mm

 for EGO thermostat  for EGO thermostat

    

REPAGAS  22405005  REPAGAS  57103027

<|

3 2 4 1 0 9 1
|>

BL A C K  KN OB  ø 5 5  m m
<|

3 2 4 1 0 9 2
|>

BL A C K  KN OB  ø 5 5  m m
square hole 5x5 mm D-shaped hole 6x4.6 mm

 for Fryer electric (REPAGAS) EB12 - EB18 - EB8  for Fryer electric (REPAGAS) EB12 - EB18 - EB8

    

REPAGAS  8700012  REPAGAS  8500006

<|

3 2 4 1 6 3 3
|>

BL A C K  KN OB  ø 6 2  m m  S IL K-S C R EEN P R IN T ED
<|

3 2 4 1 6 3 5
|>

BL A C K  KN OB  ø 6 2  m m  S IL K-S C R EEN P R IN T ED
D-shaped hole 10x8 mm D-shaped hole 8x6.5 mm

 for Pot stove (REPAGAS)  for Pot stove (REPAGAS)

    

REPAGAS  00300078 REPAGAS  013839  REPAGAS  001624 REPAGAS  30100053

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 2 4 1 6 3 8
|>

BL A C K  KN OB  ø 7 0  m m  S IL K-S C R EEN P R IN T ED
<|

3 2 4 1 6 3 2
|>

BL A C K  KN OB  ø 7 5  m m  S IL K-S C R EEN P R IN T ED
D-shaped hole 8x6.5 mm D-shaped hole 10x8 mm

 for Pot stove (REPAGAS)  for Pot stove (REPAGAS)

    

REPAGAS  008007 REPAGAS  30118000  REPAGAS  00130000 REPAGAS  002217 REPAGAS  0100144

 REPAGAS  50100083

<T2

Lamp receptacles and spare parts
T2>

<|

3 2 2 1 1 7 2
|>

FR A M E FOR  O VEN  LA M P  R EC EP TA C L E
<|

3 2 2 1 2 5 5
|>

FR A M E FOR  O VEN  LA M P  R EC EP TA C L E
external dimensions 96x80 mm external dimensions 140x72 mm

    

REPAGAS  44100006  REPAGAS  1250018

<|

3 2 2 1 2 5 7
|>

G A SK ET F. O VEN  L A M P R EC EP T A C LE  S IL IC ON E
<|

3 1 8 6 1 7 3
|>

G A SK ET FO R  OV EN  L A M P  REC EPT A C L E
external dimensions 140x75 mm external dimensions 93x79 mm

    

REPAGAS  1250020  REPAGAS  44100005

<|

3 2 2 1 1 7 3
|>

G LA S S FO R  OV EN  L A M P  REC EPT A C L E
<|

3 2 2 1 2 5 6
|>

G LA S S FO R  OV EN  L A M P  REC EPT A C L E
external dimensions 73x58 mm external dimensions 112x65 mm

  max temperature 500°C

    

REPAGAS  44100004  REPAGAS  1250019

<|

3 2 2 1 0 5 2
|>

G LA S S FO R  OV EN  L A M P  REC EPT A C L E ø 5 7  m m
<|

3 2 2 1 2 0 4
|>

H A LO G EN L A M P  R EC EPT A C L E G4  2 0 W  1 2 V
thread ø 33.5 mm - overall height 34 mm UL certified - wire connection length 300 mm

    

REPAGAS  1230007  REPAGAS  42200008

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

5 0 1 3 4 6 6
|>

L A M P  H OL D ER  W ITH  LA M P  E1 4  2 5 W  2 30 V
<|

3 2 2 1 2 5 5
|>

FR A M E FOR  O VEN  LA M P  R EC EP TA C L E
extern size 140x72 mm external dimensions 140x72 mm

 maximal temperature 300°C  

    

REPAGAS  REPAGAS  1250018

<|

3 2 2 1 2 5 7
|>

G A SK ET F. O VEN  L A M P R EC EP T A C LE  S IL IC ON E
<|

3 2 2 1 2 5 6
|>

G LA S S FO R  OV EN  L A M P  REC EPT A C L E
external dimensions 140x75 mm external dimensions 112x65 mm

  max temperature 500°C

    

REPAGAS  1250020  REPAGAS  1250019

<|

3 2 2 1 0 6 1
|>

L A M P  E1 4  2 5 W  2 3 0 V
<|

3 2 2 1 1 2 0
|>

L A M P  R EC EP T AC LE FO R  LA M P  E1 4  2 5W  23 0 V
max temperature 300°C - ø 26x57 mm dimensioni esterne 106x65 mm

    

REPAGAS  1250021  REPAGAS  1250065

<|

D 4 2 1 0 1 6
|>

O VEN  LA M P  D R  FIS C H ER  E1 4  2 5 W  2 3 0 V
<| |>

ø 25x57 mm - max temperature 300°C

    

<|

2 1 0 1 3 7 2
|>

L A M P  R EC EP T AC LE FO R  LA M P  E1 4  1 5-2 5 W  2 3 0 V
<| |>

mounting hole ø 38 mm
 max temperature 300°C  

    

REPAGAS  1230010  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Level gauges
T2>

<|

3 2 0 1 0 1 0
|>

L EVEL  G LA S S ø 1 3 x1 3 8  m m
<| |>

for Boiling pan (REPAGAS)

    

REPAGAS  020110 REPAGAS  08400054  

<T2

Lids
T2>

<|

5 0 0 2 3 5 6
|>

FR YER  TA N K  C OV ER  3 40 x2 7 0  m m
<|

5 0 4 0 3 0 2
|>

FR YER  TA N K  C OV ER  3 40 x2 7 0  m m

    

REPAGAS  8900010 REPAGAS  9400014  REPAGAS  40101032

<|

5 0 4 0 3 0 3
|>

FR YER  TA N K  C OV ER  4 30 x2 7 0  m m
<| |>

    

REPAGAS  1140009  

<T2

Magnets
T2>

<|

3 2 4 2 5 8 7
|>

D O OR  L OC K  M A G NET
<| |>

platelet dimensions  51x19 mm
 mounting hole 38x25x7.5 mm  
 for FRYER all models  

    

REPAGAS  40100019  

<T2

Microswitches, mechanical
T2>

<|

3 2 4 0 1 4 4
|>

M IC R O SW ITC H B ITR O N  TYP E S 16
<|

3 2 4 0 6 5 3
|>

M IC R O SW ITC H T EL EM E C A NIQU E X C 1 -ZA 2
16A 250V 10A 500V

  for Bratt pan gas (REPAGAS) SB730 - SB90 - SB940

    

REPAGAS  8500023  REPAGAS  007859 REPAGAS  09516066

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 2 4 0 4 1 0
|>

M IC R O SW ITC H 1 6 (4 )A  25 0 V
<|

3 2 4 0 2 0 3
|>

BU SH ING  D O OR  M IC RO SW IT C H
external ø 10x15 mm

    

REPAGAS  1230024  

<|

3 2 4 0 2 3 6
|>

L IM IT  SW ITC H C O N TR O L
<|

3 2 4 0 2 3 4
|>

L IM IT  SW ITC H P IN

    

<|

3 2 4 0 2 3 3
|>

M IC R O SW ITC H FITT IN G  M 16 x1 .5  m m
<|

3 2 5 0 0 7 1
|>

M IC R O SW ITC H S P RIN G ø  13 x2 5  m m

    

<|

3 2 4 0 2 3 5
|>

R IN G  NU T  M 1 6 x1 .5  m m
<| |>

    

<T2

Motors
T2>

<|

3 2 4 0 0 0 0
|>

M OT O R W ITH  FA N  4 5W  2 2 0 V  5 0 /6 0 Hz
<| |>

fan ø 150 mm

    

REPAGAS  1510006  

<T2

Nozzles
T2>

<|

3 5 0 0 3 6 1
|>

G A S JET  M 1 0 x1  ø 1 .6 5  m m
<|

3 5 0 0 0 5 6
|>

G A S JET  M 1 0 x1  ø 1 .8 5  m m

    

REPAGAS  9400025  REPAGAS  40200015

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 5 0 0 0 4 1
|>

G A S JET  M 9 x1  ø 0 .9 5  m m
<|

3 5 0 0 0 4 4
|>

G A S JET  M 9 x1  ø 1 .1 5  m m

    

REPAGAS  04704017  REPAGAS  00120151

<|

3 5 0 0 0 4 5
|>

G A S JET  M 9 x1  ø 1 .2 0  m m
<|

3 5 0 0 0 4 7
|>

G A S JET  M 9 x1  ø 1 .3 5  m m

    

REPAGAS  02107015  REPAGAS  30100039

<|

5 0 5 1 5 4 8
|>

G A S JET  M 9 x1  ø 1 .7 5  m m
<|

3 5 0 0 0 5 0
|>

G A S JET  M 9 x1  ø 1 .8 0  m m

    

REPAGAS  01288313 REPAGAS  60100043  REPAGAS  00100139

<|

3 5 0 0 0 5 1
|>

G A S JET  M 9 x1  ø 1 .9 0  m m
<|

3 5 0 0 0 5 3
|>

G A S JET  M 9 x1  ø 2 .1 5  m m

    

REPAGAS  50100013  REPAGAS  07600010

<T2

Pilot burners and accessories
T2>

<|

3 0 2 0 0 8 4
|>

FITT IN G  A N D  O LIVE ø  6  m m
<| |>

    

REPAGAS  00131131 REPAGAS  43000018  

<|

3 0 2 0 0 2 5
|>

O NE-FL A M E PIL OT  BU RN ER  SIT
<|

3 0 2 0 1 0 1
|>

BR A C K ET C L A M P  2 P O SITION S
multigas type with nozzle ø 0.25 mm

 with 2 positions bracket  

    

REPAGAS  00120137 REPAGAS  50116000  

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 9 2
|>

BR A C K ET P IL O T BU R N ER S U PP . L H  92 x5 5 x4 5m m
<|

3 0 2 0 2 9 2
|>

BR A C K ET P IL O T BU R N ER S U PP O R T 4 7 x40 x1 5  m m
for mounting of pilot assembly for burner ø 90 mm

    

<|

3 0 2 0 2 9 3
|>

BR A C K ET P IL O T BU R N ER S U PP O R T 6 5 x50 x4 5  m m
<|

3 0 2 0 2 9 1
|>

BR A C K ET P IL O T BU R N ER S U PP O R T 8 5 x45 x5 5  m m
for burner ø 115 mm for burner ø 135 mm

    

<|

3 0 2 0 1 0 0
|>

BR A C K ET 2  P OS IT IO N S
<|

3 0 2 0 1 0 8
|>

D EFL EC T OR  1  FL A M E

    

<|

3 0 2 0 0 8 3
|>

FITT IN G  A N D  O LIVE ø  4  m m
<|

3 0 2 0 0 8 4
|>

FITT IN G  A N D  O LIVE ø  6  m m

    

 REPAGAS  00131131 REPAGAS  43000018

<|

3 0 2 0 1 0 2
|>

H EXA G O N H EA D  S C R EW  3 /1 6 "x1 8  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  PIP E ø 4  m m
for model PEL 22-24-25 for model PEL 21-22-24-25

    

<|

5 0 2 7 9 5 3
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 0 2 0 0 8 1
|>

O LIVE FO R  PIP E ø 6  m m
for COPRECI CAL3200

    

<|

3 0 2 0 1 1 5
|>

P IL OT  C A P  1  FLA M E
<|

3 0 2 0 1 1 9
|>

P IL OT  C A P  1  FLA M E
for multigas burner

    

<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m
<|

3 0 2 0 1 5 6
|>

P IL OT  JET  ø 0 .2 5  m m

    

<|

4 0 5 8 5 2 5
|>

P IL OT  JET  ø 0 .3 0  m m
<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

5 0 1 5 5 1 6
|>

P IL OT  JET  ø 0 .4 0  m m
<|

3 5 0 0 2 6 9
|>

P IL OT  JET  ø 0 .4 5  m m

    

<|

5 0 7 5 9 8 9
|>

P IL OT  JET  ø 0 .7 0  m m
<|

3 0 2 0 3 0 8
|>

P IL OT  W IT H  NO ZZ LE ø  0 .4 0 m m

    

<|

3 0 2 0 1 0 5
|>

P IL OT  W IT H  0 .2 0  m m  ø JET
<|

3 0 2 0 1 0 6
|>

P IL OT  W IT H  0 .2 5  m m  ø JET

    

<|

3 0 2 0 1 0 7
|>

P IL OT  W IT H  0 .3 5  m m  ø JET
<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
thread ø 3/8"M

    

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

5 0 3 3 1 3 8
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread ø 1/8"M

    

<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

5 0 2 5 5 4 9
|>

P IL OT  BU R NER  K IT  SIT 3  FL A M E S
<|

3 0 2 0 0 8 3
|>

FITT IN G  A N D  O LIVE ø  4  m m
without plug and gasket

 with pilot olive for pipe  
 with thermocouple connection  
 with sparking plug fitting  
 with pilot nozzles ø 0.35 mm - ø 0.51 mm  

    

REPAGAS  64100007  

<|

3 0 2 0 0 8 4
|>

FITT IN G  A N D  O LIVE ø  6  m m
<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m

    

REPAGAS  00131131 REPAGAS  43000018  

<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
thread M10x1 M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 1 1 1
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 0 2 0 1 1 2
|>

O LIVE FO R  PIP E ø 6  m m

    

<|

5 0 3 5 3 2 4
|>

P IL OT  JET  ø 0 .1 8  m m
<|

3 0 2 0 5 5 7
|>

P IL OT  JET  ø 0 .2 0  m m

    

<|

3 0 2 0 1 5 7
|>

P IL OT  JET  ø 0 .2 5  m m
<|

3 0 2 0 0 4 0
|>

P IL OT  JET  ø 0 .3 0  m m

    

 REPAGAS  00142185

<|

3 0 2 0 5 4 1
|>

P IL OT  JET  ø 0 .3 5  m m
<|

3 0 2 0 0 4 1
|>

P IL OT  JET  ø 0 .4 1  m m

    

<|

2 1 0 6 3 0 8
|>

P IL OT  JET  ø 0 .4 5  m m
<|

3 0 2 0 1 8 7
|>

P IL OT  JET  ø 0 .5 1  m m

    

<|

4 0 5 3 6 6 9
|>

P IL OT  JET  ø 0 .7 5  m m
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
thread M10x1

    

<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 2 0 4 3 3
|>

P IL OT  BU R NER  3 -FL AM E
<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
supplied without sparking plug

 supplied with NATURAL GAS nozzles  
 supplied with pilot pipe fitting  
 supplied with thermocouple fitting  
 with sparking plug fitting  

    

REPAGAS  40900004  

<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
thread M10x1 M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<|

3 0 2 0 1 1 1
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 0 2 0 1 1 2
|>

O LIVE FO R  PIP E ø 6  m m

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 4 4
|>

P IL OT  JET  ø 0 .2 0  m m
<|

5 0 7 1 2 2 0
|>

P IL OT  JET  ø 0 .2 2  m m

    

REPAGAS  40900003  

<|

3 0 2 0 4 5 2
|>

P IL OT  JET  ø 0 .3 2  m m
<|

3 0 2 0 0 4 5
|>

P IL OT  JET  ø 0 .5 0  m m

    

 REPAGAS  40900006

<|

3 0 2 0 4 4 9
|>

P IL OT  JET  ø 0 .5 4  m m
<|

3 0 2 0 4 6 4
|>

P IL OT  JET  ø 0 .6 4  m m

    

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1

    

<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
<| |>

thread M10x1 mm

    

<|

3 0 2 0 0 4 4
|>

P IL OT  JET  ø 0 .2 0  m m
<|

3 0 2 0 0 4 0
|>

P IL OT  JET  ø 0 .3 0  m m

    

REPAGAS  40900003  REPAGAS  00142185

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 2 0 0 4 5
|>

P IL OT  JET  ø 0 .5 0  m m
<| |>

    

REPAGAS  40900006  

<|

3 0 2 0 0 1 5
|>

P R IN TED  P ILO T B UR N ER  SIT 2  FL A M ES
<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
supplied without sparking plug, gasket

 with thermocouple fitting  
 with NATURAL GAS nozzle ø 0.41 mm  

    

REPAGAS  00150219  

<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
thread M10x1 M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 1 1 1
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  PIP E ø 4  m m
for model PEL 21-22-24-25

    

<|

3 0 2 0 1 1 2
|>

O LIVE FO R  PIP E ø 6  m m
<|

5 0 3 5 3 2 4
|>

P IL OT  JET  ø 0 .1 8  m m

    

<|

3 0 2 0 5 5 7
|>

P IL OT  JET  ø 0 .2 0  m m
<|

3 0 2 0 1 5 7
|>

P IL OT  JET  ø 0 .2 5  m m

    

<|

3 0 2 0 0 4 0
|>

P IL OT  JET  ø 0 .3 0  m m
<|

3 0 2 0 5 4 1
|>

P IL OT  JET  ø 0 .3 5  m m

    

REPAGAS  00142185  

<|

3 0 2 0 0 4 1
|>

P IL OT  JET  ø 0 .4 1  m m
<|

2 1 0 6 3 0 8
|>

P IL OT  JET  ø 0 .4 5  m m

    

<|

3 0 2 0 1 8 7
|>

P IL OT  JET  ø 0 .5 1  m m
<|

4 0 5 3 6 6 9
|>

P IL OT  JET  ø 0 .7 5  m m

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread M10x1 mm

  for model PEL 21-22-24-25

    

<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1 mm

    

<|

3 0 2 0 0 0 6
|>

T HR EE-FL A M E P ILO T B UR N ER  SIT
<|

3 0 2 0 1 0 4
|>

BR A C K ET C L A M P  3 P O SITION S
multigas with jet  ø 0.20 mm

 with 3 positions bracket  

    

REPAGAS  00106039  

<|

3 0 2 0 1 0 3
|>

BR A C K ET 3  P OS IT IO N S
<|

3 0 2 0 1 0 9
|>

D EFL EC T OR  2  FL A M ES

    

<|

3 0 2 0 1 1 0
|>

D EFL EC T OR  3  FL A M ES
<|

5 0 4 8 7 1 3
|>

D EFL EC T OR  3  FL A M ES

    

<|

3 0 2 0 0 8 3
|>

FITT IN G  A N D  O LIVE ø  4  m m
<|

3 0 2 0 0 8 4
|>

FITT IN G  A N D  O LIVE ø  6  m m

    

 REPAGAS  00131131 REPAGAS  43000018

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 1 0 2
|>

H EXA G O N H EA D  S C R EW  3 /1 6 "x1 8  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  PIP E ø 4  m m
for model PEL 22-24-25 for model PEL 21-22-24-25

    

<|

5 0 2 7 9 5 3
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 0 2 0 0 8 1
|>

O LIVE FO R  PIP E ø 6  m m
for COPRECI CAL3200

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 9 7
|>

P IL OT  A ER A TION  R EGU L A TO R
<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m
internal ø 7 mm - external ø 9 mm

 height 10 mm  

    

<|

3 0 2 0 1 5 6
|>

P IL OT  JET  ø 0 .2 5  m m
<|

4 0 5 8 5 2 5
|>

P IL OT  JET  ø 0 .3 0  m m

    

<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m
<|

5 0 1 5 5 1 6
|>

P IL OT  JET  ø 0 .4 0  m m

    

<|

3 5 0 0 2 6 9
|>

P IL OT  JET  ø 0 .4 5  m m
<|

5 0 7 5 9 8 9
|>

P IL OT  JET  ø 0 .7 0  m m

    

<|

3 0 2 0 3 0 8
|>

P IL OT  W IT H  NO ZZ LE ø  0 .4 0 m m
<|

3 0 2 0 1 0 5
|>

P IL OT  W IT H  0 .2 0  m m  ø JET

    

<|

3 0 2 0 1 0 6
|>

P IL OT  W IT H  0 .2 5  m m  ø JET
<|

3 0 2 0 1 0 7
|>

P IL OT  W IT H  0 .3 5  m m  ø JET

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
thread ø 3/8"M thread M10x1

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

5 0 3 3 1 3 8
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread ø 1/8"M thread M10x1

    

<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
<| |>

thread M10x1 mm

    

<|

3 0 2 0 0 3 8
|>

T HR EE-FL A M E P R IN T ED  P IL OT  BU R NER  S IT
<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
without sparking plug, gas nozzle and gasket

 thermocouple fitting included  

    

REPAGAS  00142000 REPAGAS  00142184  

<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
thread M10x1 M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<|

3 0 2 0 1 1 1
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  PIP E ø 4  m m
for model PEL 21-22-24-25

    

<|

3 0 2 0 1 1 2
|>

O LIVE FO R  PIP E ø 6  m m
<|

3 0 2 0 0 8 6
|>

P IL OT  G A SK ET

    

<|

5 0 3 5 3 2 4
|>

P IL OT  JET  ø 0 .1 8  m m
<|

3 0 2 0 5 5 7
|>

P IL OT  JET  ø 0 .2 0  m m

    

<|

3 0 2 0 1 5 7
|>

P IL OT  JET  ø 0 .2 5  m m
<|

3 0 2 0 0 4 0
|>

P IL OT  JET  ø 0 .3 0  m m

    

 REPAGAS  00142185

<|

3 0 2 0 5 4 1
|>

P IL OT  JET  ø 0 .3 5  m m
<|

3 0 2 0 0 4 1
|>

P IL OT  JET  ø 0 .4 1  m m

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

2 1 0 6 3 0 8
|>

P IL OT  JET  ø 0 .4 5  m m
<|

3 0 2 0 1 8 7
|>

P IL OT  JET  ø 0 .5 1  m m

    

<|

4 0 5 3 6 6 9
|>

P IL OT  JET  ø 0 .7 5  m m
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
thread M10x1

    

<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 mm thread M10x1

 for model PEL 21-22-24-25  

    

<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
<| |>

thread M10x1 mm

    

<|

3 0 2 0 3 1 0
|>

T W O-FL A M E P ILO T B UR N ER  SIT
<|

3 0 2 0 0 8 3
|>

FITT IN G  A N D  O LIVE ø  4  m m
with LPG and NATURAL GAS nozzles

 with plug - with 3 positions bracket  
 for Fryer gas (REPAGAS) FG125 - FG157 - FG159  
 FG307 - FG309  

    

REPAGAS  40200022  

<|

3 0 2 0 0 8 4
|>

FITT IN G  A N D  O LIVE ø  6  m m
<|

3 0 2 0 1 0 2
|>

H EXA G O N H EA D  S C R EW  3 /1 6 "x1 8  m m

    

REPAGAS  00131131 REPAGAS  43000018  

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm M faston M 4x1 mm

 overall length 65 mm  overall length 82 mm
  model CB505/021 Junkers
  for model P502F

    

REPAGAS  40100008  REPAGAS  00142187

<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
connection ø 2.4 mm M faston M4x1 mm

 overall length 58 mm  overall length 67 mm

    

REPAGAS  40100008  

<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 0 8 2
|>

O LIVE FO R  PIP E ø 1 2  m m
connection ø 2.4 mm for model PEL 22-24-25

 overall length 52 mm  

    

<|

3 3 4 8 0 3 6
|>

O LIVE FO R  PIP E ø 4  m m
<|

5 0 2 7 9 5 3
|>

O LIVE FO R  PIP E ø 4  m m
for model PEL 21-22-24-25 for COPRECI CAL3200

    

<|

3 0 2 0 0 8 1
|>

O LIVE FO R  PIP E ø 6  m m
<|

3 0 2 0 0 9 7
|>

P IL OT  A ER A TION  R EGU L A TO R
internal ø 7 mm - external ø 9 mm

  height 10 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 5 4
|>

P IL OT  JET  ø 0 .2 0  m m
<|

3 0 2 0 1 5 6
|>

P IL OT  JET  ø 0 .2 5  m m

    

<|

4 0 5 8 5 2 5
|>

P IL OT  JET  ø 0 .3 0  m m
<|

3 0 2 0 0 5 5
|>

P IL OT  JET  ø 0 .3 5  m m

    

<|

5 0 1 5 5 1 6
|>

P IL OT  JET  ø 0 .4 0  m m
<|

3 5 0 0 2 6 9
|>

P IL OT  JET  ø 0 .4 5  m m

    

<|

5 0 7 5 9 8 9
|>

P IL OT  JET  ø 0 .7 0  m m
<|

3 0 2 0 3 0 8
|>

P IL OT  W IT H  NO ZZ LE ø  0 .4 0 m m

    

<|

3 0 2 0 0 7 9
|>

P IP E FITT IN G  ø  1 2  m m
<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
thread ø 3/8"M thread M10x1

    

<|

5 0 3 3 1 3 8
|>

P IP E FITT IN G  ø  4  m m
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
thread ø 1/8"M thread M10x1

    

<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
<| |>

thread M10x1 mm

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 0 2 0 0 0 9
|>

T W O-FL A M E P R IN T ED  P IL OT  BU R NER  S IT
<|

3 0 2 0 0 8 5
|>

FITT IN G  F OR  SP A R KIN G P L UG  FIXIN G M 1 0 x1m m
without sparking plug, gas nozzle and gasket

    

REPAGAS  9400049  

<|

3 0 2 0 2 0 0
|>

FITT IN G  F OR  TH ER M OC OU P LE ø  6 .5  m m
<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
thread M10x1 M faston M4x1 mm

  overall length 65 mm

    

 REPAGAS  40100008

<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M 4x1 mm connection ø 2.4 mm

 overall length 82 mm  overall length 58 mm
 model CB505/021 Junkers  
 for model P502F  

    

REPAGAS  00142187  REPAGAS  40100008

<|

3 0 2 0 2 9 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 3 6 5
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm connection ø 2.4 mm

 overall length 67 mm  overall length 52 mm

    

<|

3 0 2 0 1 1 1
|>

O LIVE FO R  PIP E ø 4  m m
<|

3 3 4 8 0 3 6
|>

O LIVE FO R  PIP E ø 4  m m
for model PEL 21-22-24-25

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 1 1 2
|>

O LIVE FO R  PIP E ø 6  m m
<|

5 0 3 5 3 2 4
|>

P IL OT  JET  ø 0 .1 8  m m

    

<|

3 0 2 0 5 5 7
|>

P IL OT  JET  ø 0 .2 0  m m
<|

3 0 2 0 1 5 7
|>

P IL OT  JET  ø 0 .2 5  m m

    

<|

3 0 2 0 0 4 0
|>

P IL OT  JET  ø 0 .3 0  m m
<|

3 0 2 0 5 4 1
|>

P IL OT  JET  ø 0 .3 5  m m

    

REPAGAS  00142185  

<|

3 0 2 0 0 4 1
|>

P IL OT  JET  ø 0 .4 1  m m
<|

2 1 0 6 3 0 8
|>

P IL OT  JET  ø 0 .4 5  m m

    

<|

3 0 2 0 1 8 7
|>

P IL OT  JET  ø 0 .5 1  m m
<|

4 0 5 3 6 6 9
|>

P IL OT  JET  ø 0 .7 5  m m

    

<|

3 0 2 0 0 7 7
|>

P IP E FITT IN G  ø  4  m m
<|

3 3 4 8 0 2 9
|>

P IP E FITT IN G  ø  4  m m
thread M10x1 thread M10x1 mm

  for model PEL 21-22-24-25

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 0 2 0 0 7 8
|>

P IP E FITT IN G  ø  6  m m
<|

5 0 1 4 7 5 7
|>

P IP E FITT IN G  ø  6  m m
thread M10x1 thread M10x1 mm

    

<T2

Probes
T2>

<|

3 4 4 5 0 7 0
|>

P TC  P V C  P RO BE 1 5 0 0  m m
<| |>

2-wire probe temperature range -30+80°C
 bulb ø 6x40 mm  

    

REPAGAS  44300002  

<T2

Protection plates
T2>

<|

3 5 2 3 0 5 0
|>

C O VER  FO R  V A LV E M IN IS IT
<| |>

    

REPAGAS  9400036  

<T2

Relays
T2>

<|

3 3 5 1 0 0 7
|>

P OW E R R EL A Y FIN D ER  5 5 .3 2 .8 .2 3 0 .0 0 40
<| |>

230V 50/60Hz
 2 exchange contacts 10A  
 with to test push-button + mechanic gauge  

    

REPAGAS  41200002 REPAGAS  43000001  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Safety groups for pans and spare parts
T2>

<|

3 1 8 4 0 0 3
|>

S AFE TY G R OU P  VER T IC A L  ø 1 "1 /4
<|

3 1 8 4 0 1 3
|>

D EP R ESS IO N  VA L VE ø  3 /4"M
elbow connection ø 1"1/4 in chrome plated brass

 calibration pressure 0.50bar ±10%  for safety group ø 3/4"
 system with spring opening device  for safety group ø 1"1/4
 complete with safety valve. depression valve.  
 tap for pressure gauge holder and pressure gauge  
 for STEAM BOILING KETTLE  

    

REPAGAS  08425000  

<|

3 1 8 4 0 0 7
|>

P R ESS UR E G A U GE ø  6 0 m m
<|

3 1 8 4 0 3 4
|>

P R ESS UR E-G A UG E H OL D ING  T A P ø  1/4 "
in chrome plated brass for security group 3/4"

 radial connection 1/4"  for security group 1"1/4
 scale 0-1 bar  
 for safety groups  

    

<|

3 1 8 4 0 1 8
|>

S AFE TY V A LV E ø 1 "1 /4 M
<|

3 1 8 4 0 1 6
|>

S AFE TY V A LV E "FUM A N A " ø 1 "M
max pressure 0.5 atm chrome plated brass

 for safety group 1"1/4  for safety group 3/4"
 ISPESL approved  for safety group 1"1/4

    

 REPAGAS  09104000

<|

3 1 8 4 0 1 6
|>

S AFE TY V A LV E "FUM A N A " ø 1 "M
<| |>

chrome plated brass
 for safety group 3/4"  
 for safety group 1"1/4  

    

REPAGAS  09104000  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Selector switches
T2>

<|

3 0 5 7 1 9 2
|>

S ELEC TO R S W IT C H  0 -1  P O SITION S
<|

3 0 5 7 1 9 3
|>

S ELEC TO R S W IT C H  0 -1  P O SITION S
contact capacity 40A 600V contact capacity 32A 600V

 square pin 5x5 mm  square pin 5x5 mm
 for Fryer electric (REPAGAS) FE17  for Fryer electric (REPAGAS) FE10 - FE8

    

REPAGAS  57103015  REPAGAS  57203017

<|

3 0 5 7 1 9 4
|>

S ELEC TO R S W IT C H  0 -1  P O SITION S
<|

3 0 5 7 1 9 5
|>

S ELEC TO R S W IT C H  0 -1  P O SITION S
contact capacity 20A 300V - max 150°C contact capacity 20A 300V - max 150°C

 square pin 5x5 mm  square pin 5x5 mm
 for Bain-marie gas (REPAGAS) BM72 - BM92  for Bain-marie gas (REPAGAS) BM71 - BM91

    

REPAGAS  019575 REPAGAS  22304004  REPAGAS  015963 REPAGAS  27800010

<|

3 0 5 9 0 1 1
|>

S ELEC TO R S W IT C H  3 -P O LE
<|

3 2 4 1 0 9 1
|>

BL A C K  KN OB  ø 5 5  m m
contact capacity 16A 380V - max 60/75°C square hole 5x5 mm

 square shaft 5x5 mm  for Fryer electric (REPAGAS) EB12 - EB18 - EB8

    

REPAGAS  8700023  REPAGAS  8700012

<|

3 0 5 9 0 1 0
|>

S IN GL E P OL E S ELE C TO R  SW ITC H
<|

3 2 4 1 0 9 1
|>

BL A C K  KN OB  ø 5 5  m m
contact capacity 12A 250V - max 60/75°C square hole 5x5 mm

 square shaft 5x5 mm  for Fryer electric (REPAGAS) EB12 - EB18 - EB8

    

REPAGAS  8700027  REPAGAS  8700012

<T2

Solenoid valves
T2>

<|

5 0 4 6 9 8 1
|>

O UT L ET R ED U C ER  0 .1 0  L/M in B RO W N
<|

5 0 3 6 9 1 3
|>

O UT L ET R ED U C ER  0 .2  L/m in  P IN K

    

REPAGAS  009006 REPAGAS  1250022  REPAGAS  008887 REPAGAS  1250009

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 1 2 0 0 0 5
|>

S OL EN . VA L VE EL BI T YP E 3 2 9  1  W AY  1 80 °
<|

3 1 2 0 0 1 9
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
220/240V 50/60Hz - max. temperature 90°C flow rate 5.5 L/min - tolerance +/- 15%

 inlet 3/4" - outlet ø 10.5 mm  

    

REPAGAS  1230013  

<|

3 1 2 0 0 2 1
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
<|

3 1 2 0 0 2 2
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
flow rate 12 L/min - tolerance +/- 15% flow rate 16 L/min - tolerance +/- 15%

    

<|

3 1 2 0 0 3 7
|>

A D JU S TER  FO R O U TL ET EL BI GR EEN
<|

3 1 2 0 2 0 1
|>

A D JU S TER  FO R O U TL ET EL BI GR EY
flow rate 0.25 L/min - tolerance +/- 25% flow rate 4.7 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 1 6
|>

A D JU S TER  FO R O U TL ET EL BI NEU T RA L
<|

3 1 2 0 0 1 7
|>

A D JU S TER  FO R O U TL ET EL BI OR A N GE
flow rate 1.2 L/min - tolerance +/- 25% flow rate 2.5 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 1 5
|>

A D JU S TER  FO R O U TL ET EL BI RED
<|

3 1 2 0 2 0 3
|>

A D JU S TER  FO R O U TL ET EL BI W HITE
flow rate 0.5 L/min - tolerance +/- 25% flow rate 2 L/min - tolerance +/- 25%

    

<|

3 1 2 0 2 0 2
|>

A D JU S TER  FO R O U TL ET EL BI YEL LO W
<|

3 1 2 0 0 0 0
|>

FILT ER  FOR  IN L ET S OL EN OID  VA L V E ELBI
flow rate 0.35 L/min / tolerance +/- 25%

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 1 2 0 2 0 4
|>

O UT L ET A D JU S TER  EL BI BL A C K
<| |>

flow rate 5.5 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 0 7
|>

S OL EN . VA L VE EL BI T YP E 3 4 9  2  W AY  1 80 °
<|

3 1 2 0 0 1 9
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
220/240V 50/60Hz - max. temperature 90°C flow rate 5.5 L/min - tolerance +/- 15%

 inlet 3/4" - two outlets ø 10.5 mm  

    

REPAGAS  1240007  

<|

3 1 2 0 0 2 1
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
<|

3 1 2 0 0 2 2
|>

A D JU S TER  FO R INL ET  ELB I BL A C K
flow rate 12 L/min - tolerance +/- 15% flow rate 16 L/min - tolerance +/- 15%

    

<|

3 1 2 0 0 3 7
|>

A D JU S TER  FO R O U TL ET EL BI GR EEN
<|

3 1 2 0 2 0 1
|>

A D JU S TER  FO R O U TL ET EL BI GR EY
flow rate 0.25 L/min - tolerance +/- 25% flow rate 4.7 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 1 6
|>

A D JU S TER  FO R O U TL ET EL BI NEU T RA L
<|

3 1 2 0 0 1 7
|>

A D JU S TER  FO R O U TL ET EL BI OR A N GE
flow rate 1.2 L/min - tolerance +/- 25% flow rate 2.5 L/min - tolerance +/- 25%

    

<|

3 1 2 0 0 1 5
|>

A D JU S TER  FO R O U TL ET EL BI RED
<|

3 1 2 0 2 0 3
|>

A D JU S TER  FO R O U TL ET EL BI W HITE
flow rate 0.5 L/min - tolerance +/- 25% flow rate 2 L/min - tolerance +/- 25%

    

<T1

REPAGAS
T1>



Suitable for: Suitable for:
<|

3 1 2 0 2 0 2
|>

A D JU S TER  FO R O U TL ET EL BI YEL LO W
<|

3 1 2 0 0 0 0
|>

FILT ER  FOR  IN L ET S OL EN OID  VA L V E ELBI
flow rate 0.35 L/min / tolerance +/- 25%

    

<|

3 1 2 0 2 0 4
|>

O UT L ET A D JU S TER  EL BI BL A C K
<| |>

flow rate 5.5 L/min - tolerance +/- 25%

    

<T2

Spark generators
T2>

<|

3 1 8 1 0 0 2
|>

S PA R K  GEN ER A TO R  2  OU TL ET S
<| |>

220/240V  50/60Hz

    

REPAGAS  1430008  

<T2

Sparking and detection plugs
T2>

<|

3 0 0 1 0 0 3
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<|

3 0 2 0 0 6 0
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
M faston M4x1 mm M faston M 4x1 mm

 overall length 65 mm  overall length 82 mm
  model CB505/021 Junkers
  for model P502F

    

REPAGAS  40100008  REPAGAS  00142187

<|

3 0 2 0 1 2 4
|>

IG N IT IO N  PL U G  R O U ND  ø  7 x4 4  m m
<| |>

connection ø 2.4 mm
 overall length 58 mm  

    

REPAGAS  40100008  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Taps for tank refilling
T2>

<|

3 1 8 3 0 1 4
|>

S PO U T C O N NEC TION  1 /2 "M
<|

3 5 2 8 0 5 6
|>

C O U NT ER  NU T  F LA T  OF BR A S S 1 /2 "
chrome-plated brass swivel

 outlet spout ø 18 mm  

    

REPAGAS  08400058  

<|

3 3 5 6 1 1 1
|>

W A TE R INL ET  TA P  ø 1 /2 "FF
<| |>

    

REPAGAS  09500071  

<|

3 3 5 9 1 3 8
|>

W A TE R INL ET  TA P  ø 1 /2 "FF
<|

2 1 0 3 6 8 7
|>

FIXING  W A S HER  2 6 xM 1 9
for Boiling pan (REPAGAS)

 for Pasta cooker (REPAGAS)  

    

REPAGAS  58417000  

<T2

Telethermometers
T2>

<|

3 4 4 1 0 4 6
|>

T ELE-T HER M O M E TER  W H IT E ø 5 2  m m  0 -2 5 0 °C
<|

3 4 4 1 0 8 3
|>

T ELE-T HER M O M E TER  W H IT E ø 5 2  m m  0 -2 5 0 °C
metal body metal body

 capillary length 1300 mm  capillary length 1310 mm
 bulb ø 4x75 mm  bulb ø 4x75 mm

    

REPAGAS  1440019 REPAGAS  9400021  

<|

3 4 4 1 0 2 0
|>

T ELE-T HER M O M E TER  W H IT E ø 5 2  m m  5 0 -2 5 0 °C
<| |>

metal body
 capillary length 1500 mm  
 bulb ø 6x43 mm  

    

REPAGAS  9400021  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Terminal blocks
T2>

<|

3 2 4 7 0 0 3
|>

T ERM INA L  BL OC K 2 -P OL ES O F C ER A M IC
<| |>

for cable 0.75-4 mm²
 operating temperature 300°C  
 nominal voltage 450V  
 dimensions 21x18x16 mm  

    

REPAGAS  32100015  

<T2

Thermocouples and accessories
T2>

<|

2 1 1 1 6 3 8
|>

C U T-O FF TH ER M OC OU P LE M 9 x1  6 0  cm
<|

3 4 4 0 0 6 6
|>

IN T ER RU P TED  TH ER M OC O U PL E M 9 x1  6 0  cm
cut-off contact with terminals interrupted contact with fastons

    

REPAGAS  09500065  REPAGAS  09500065

<|

3 4 4 0 0 0 6
|>

T HER M O C OU P LE  SIT  M 1 0 X1  3 2  cm
<|

5 0 2 1 7 0 1
|>

T HER M O C OU P LE  SIT  M 8 x1  7 5  cm

    

REPAGAS  24204026  REPAGAS  00100079

<|

3 4 4 0 8 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S
<| |>

    

REPAGAS  00106040  

<|

3 4 4 0 0 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm .
<|

3 4 4 0 8 3 7
|>

T HER M O C OU P LE  SIT  M 9 x1  1 0 0  cm  - 1 0  P C S

    

REPAGAS  00106040  REPAGAS  00106040

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 4 4 0 0 3 8
|>

T HER M O C OU P LE  SIT  M 9 x1  1 2 0  cm
<|

3 4 4 0 8 3 8
|>

T HER M O C OU P LE  SIT  M 9 x1  1 2 0  cm  - 1 0  P C S

    

REPAGAS  25100058  REPAGAS  25100058

<|

3 4 4 0 8 3 8
|>

T HER M O C OU P LE  SIT  M 9 x1  1 2 0  cm  - 1 0  P C S
<| |>

    

REPAGAS  25100058  

<T2

Thermostats
T2>

<|

3 4 4 4 0 0 8
|>

K NO B BL A C K  ø 4 1  m m  0 -9 0 °C
<|

3 4 4 4 3 5 2
|>

S IN GL E-P HA S E TH ER M OS TA T  1 3 0 °C
D-shaped hole 6x4.6 mm with manual reset

 for thermostat IMIT  covered capillary length 870 mm - 16A 250V
  bulb ø 6x129 mm

    

REPAGAS  25304010  REPAGAS  1440003

<|

3 4 4 4 3 8 9
|>

S IN GL E-P HA S E TH ER M OS TA T  2 3 0 °C
<| |>

with manual reset
 capillary length 600 mm - 16A 250V  
 bulb ø 6x83 mm  

    

REPAGAS  8500016  

<|

3 4 4 4 6 9 0
|>

S IN GL E-P HA S E TH ER M OS TA T  2 3 0 °C
<|

3 4 4 4 1 2 4
|>

P R OT EC TIO N C A P
with manual reset for safety thermostat

 complete with wiring  for THERMOSTAT EGO
 covered capillary length 1480 mm  
 bulb ø 4x125 mm  
 for Fryer gas (REPAGAS) FG125 - FG157 - FG159  
 FG307 - FG309  

    

REPAGAS  09500064  

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

3 4 4 4 6 8 9
|>

S IN GL E-P HA S E TH ER M OS TA T  3 4 0 °C
<|

3 4 4 4 6 3 3
|>

S IN GL E-P HA S E TH ER M OS TA T  5 0 -2 0 5 °C
with manual reset D-shaped pin ø 6x4.6 mm

 covered capillary length 870 mm  capillary length 870 mm
 bulb ø 3x160 mm  bulb ø 6x77 mm
 for Fry top gas (REPAGAS) FT71 - FT72 - FT92  for fryer 7-8-10 L
  for Fryer (REPAGAS)

    

REPAGAS  20400023 REPAGAS  60600044  REPAGAS  57103017

<|

3 4 4 4 0 4 3
|>

S IN GL E-P HA S E TH ER M OS TA T  5 0 -2 7 0 °C
<|

3 4 4 4 1 7 4
|>

S IN GL E-P HA S E TH ER M OS TA T  5 0 -3 2 0 °C
D-shaped pin ø 6x4.6 mm D-shaped pin ø 6x4.6 mm

 covered capillary length 1300 mm - 16A 250V  capillary length 900 mm - 16A 250V
 bulb ø 3x220 mm  bulb ø 3x220 mm

    

REPAGAS  1230017  REPAGAS  1270013

<|

3 4 4 4 3 8 4
|>

S IN GL E-P HA S E TH ER M OS TA T  6 5 -2 0 4 °C
<|

3 4 4 4 0 0 4
|>

T HER M O ST AT  SIN GL E-P HA S E TR 2  0 -90 °C
D shaft ø 6x4.6 mm D-shaped pin ø 6x4.6 mm

 capillary length 900 mm - 16A 250V  capillary length 1500 mm - 15A 250V
 bulb ø 4x95 mm  bulb ø 6.5x95 mm

    

REPAGAS  8500014  REPAGAS  25304008

<|

3 4 4 4 1 6 9
|>

T HER M O ST AT  SIN GL E-P HA S E TR 2  2 2 0 °C
<|

3 4 4 4 3 4 8
|>

T HER M O ST AT  SIN GL E-P HA S E TR 2  2 3 5 °C
with manual reset with manual reset

 complete with wiring  capillary length 1000 mm - 15A 250V
 capillary length 1500 mm - 15A 250V  bulb ø 5x100 mm
 bulb ø 5x125 mm  for Fryer electric (REPAGAS) FE10 - FE17 - FE8

    

REPAGAS  09500064 REPAGAS  9400037  REPAGAS  57103016

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<|

7 1 5 0 0 1 2
|>

T HER M O ST AT  SIN GL E-P HA S E 1 0 5 -1 9 0 °C
<|

3 4 4 4 3 6 1
|>

T HER M O ST AT  SIN GL E-P HA S E 5 0 -3 2 0 °C
D-shaped pin ø 6x4.6 mm D-shaped pin ø 6x4.6 mm

 covered capillary length 1500 mm - 16A 250V  capillary 950 mm - 16A 250V
 bulb ø 4x235 mm - stuffing gland fitting M10x1  bulb ø 3x160 mm
  for Hot plate electric (REPAGAS) E60 - E64 - E80
  E84

    

REPAGAS  020373 REPAGAS  64100014  REPAGAS  32403007 REPAGAS  4100014

<|

3 3 9 4 3 2 7
|>

T HER M O ST AT  ST U FF.G LA N D  K IT  HO LE  1/8 "FF
<|

3 4 4 4 0 8 6
|>

T HER M O ST AT  TH R EE-P HA S E 1 0 8 -1 9 2 °C
stuffing gland M10x1 D-shaped pin ø 6x4.6 mm

  capillary length 900 mm - 10A 400V
  bulb ø 6x200 mm

    

REPAGAS  40900010  REPAGAS  8700022

<|

3 4 4 4 3 9 0
|>

T HR EE-P HA S E TH ER M OS TA T  2 3 0 °C
<|

3 4 4 4 0 7 6
|>

T HR EE-P HA S E TH ER M OS TA T  3 0 -1 1 0 °C
with manual reset D-shaped pin ø 6x4.6 mm

 capillary 900 mm - 10A 400V  covered capillary length 1200 mm - 10A 400V
 bulb ø 6x230 mm  bulb ø 6x130 mm

    

REPAGAS  8700021  REPAGAS  22405003

<|

3 4 4 4 6 9 4
|>

T HR EE-P HA S E TH ER M OS TA T  5 0 -3 0 0 °C
<|

3 4 4 4 6 9 5
|>

3 -PH A S E TH ER M OS TA T  1 6 0 °C
D-shaped pin ø 6x4.6 mm with manual reset

 capillary length 880 mm  covered capillary length 900 mm - 20A 380V
 bulb ø 6x77 mm  bulb ø 6x89 mm - with stuffing gland fitting M10x1
 for Fry top electric (REPAGAS) E-35 - E-65 - E-95  

    

REPAGAS  32104009  REPAGAS  1250025

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Timers
T2>

<|

3 4 4 6 0 5 6
|>

T IM ER  1 20  M INU T ES M 2
<|

3 2 4 1 1 6 1
|>

BL A C K  KN OB  ø 4 0  m m
mechanical timer with acoustic alarm D-shaped hole 6x4.6 mm

 manual left position possible  
 manually set cycle 120 minutes  
 contact capacity 16(4)A 250V  
 max temperature 125°C  
 D-shaped pin ø 6x4.6 mm  

    

REPAGAS  1250037  

<|

3 2 4 1 1 7 3
|>

BL A C K  KN OB  ø 4 4  m m
<|

3 2 4 1 1 7 4
|>

BL A C K  KN OB  ø 4 4  m m
D-shaped hole 6x4.6 mm D-shaped hole 6x4.6 mm

    

<|

3 2 4 1 3 3 6
|>

K NO B BL A C K  ø 5 0  m m
<|

3 2 4 1 8 3 0
|>

K NO B D ISK  FOR  T IM ER
D-shaped hole 6x4.6 mm 0-120 minutes

    

REPAGAS  006577 REPAGAS  1230021  

<T2

Wheels and accessories
T2>

<|

3 5 2 2 0 0 4
|>

H A ND W HEE L ø 2 8 x1 1 0  m m
<| |>

thread M6

    

REPAGAS  09508035  

<|

3 5 2 2 0 3 6
|>

H A ND W HEE L S M A L L  ø 2 0 0  m m
<|

3 5 2 2 0 0 4
|>

H A ND W HEE L ø 2 8 x1 1 0  m m
middle hole ø 20 mm - with keyway thread M6

 for Bratt pan gas (REPAGAS) SB730 - SB90 - SB940  

    

REPAGAS  001916 REPAGAS  09508034  REPAGAS  09508035

<T1

REPAGAS
T1>



Suitable for: Suitable for:

<T2

Wire pan supports
T2>

<|

3 3 5 4 0 2 0
|>

R ED U C ER  FOR  M O KA  P OT  1 7 5 x1 1 5  m m
<| |>

made of STAINLESS steel

    

REPAGAS  00100132 REPAGAS  012790  

<T1

REPAGAS
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

